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PART I/ HIT I

CHILD DEVELOPMENT AND PEDAGOGY / 9101 faora 9 fememen

Directions : Answer the [ollowing gucstions by
selecting the most appropriate option.

“Socialization” means

{1) following the social norms strictly
(2) adjusting in society

(3) revolting against social norms

{4) understanding social diversily

“Thoughl not only determines language, but
also precedes il” was an idea pul forward by

(1) Jean Piaget
{2} Kohlberg
(3) Vygotsky
(4) Pavlov

Which of the following statements is correct
in relation to ‘concept formation’ by a child ?

{1) Concepts are emotionally ordered

{2) There iz a set pattern of concept
development

(3) Concepts are not hierarchical in nalure

(4) Concepts are not individual

Which of the following statements is most
appropriate in relation to adolescence ?

(1) Increase in the incidence of emotional
upheavals

{(2) Carefree nature towards studies

(3) Thinking starts reflecting in concrete
actions

(4) Abrupt increase in the Intelligence
Quotient

Fidvr ; fefafEa y93f & 30 39 & o aad ofem
fageq 9T 4
1. ‘g @ g @

(1) «fSis AFESl &1 FBRH 9 ¥ uH
FET

@) G § quEifEd @
(3) WHfGs WMes] & favg =g &
(4) e fafaaar =1 gager

2, “fER T & 9w # Auiia s ¥ afes

S Al wed ¥ 17w faEn 30 @
peill | -

1y S fras

(2)  FEH

(3) e

4) ta=ta

3. W g Weoud-faEior & dew F famfeigd

iU S5 FuT T e ?
(1) HFeqad Fermeas &9 o goaredd gt &

(2) GFeg-fawm & uw fAfiwe dmares
SaW (Pattern) &l &

(3) CHETTRIl S FH(d URIHEE T B
(4) Tebeqard Al A8 e

4, fooni & ded ¥ fefafag & § $H-w s
waffas 3fm & ?
(1) FITEF TgE W Ul 9% WK @
(2) TgE & ¥ <9EE W&
3) Toem =1 gd el § wef¥m @
@ FE e § FREE giE
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Main characteristic of the
molivated childrer’ is their

(1) over reactive nature
(2) introvert nature

(3) balanced way of presenting their

viewpoint

(4) melanchoiic demeanour

An  important characteristic of
operational stage of mental development’ is

(1} Abstract thinking
(2) Concrete thinking
(3)  Social thinking

(4) Egocentric behaviour

Principle of reinforcement is associated with

(1) Paviov

{2} Thorndike

{3) Kohlberg

{4) Skinner

The most important factor in the effective
teaching process is

(1) punctuality exhibited by teacher and
students

(2)  mastery of the content by the teacher
(3) teacher - student dialogue

(4) timely completion of the syllabi

‘emotionally |5,

‘formal G.

P
TS T H A = R g e
¢

(1) maﬁwﬁrﬂmmwna

(2) 3 AadE =

(3) ¥ FER SHe FH W TR dfd
GRiER)

(4) 39 fOureas =yagn

F yeg fadman &

(1) 3 faeq
2 Wd Faaq
(3y Grfsis faam

(4) IRY-FHET =aER

e & fagia T gt 2
(1) dadi '

(2)  effeTsh

(3) g

(4) &

S s § we wee e 3

(1) frew v forfal g weffe o =
Ed

() fme 3o favg @ stfiEn
(3) fiee - fadl dax
(4) TIFHET F HNT W Yol g
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The best way to inculcate moral values in
children is

(1) to give moral lectures in the morning
assembly

{2) put across a situation and ask students
to take a decision

{3) demonstration of moral values By
teachers and elders

(4) teaching students to differentiate

between moral and immoral

Which of the following factors is a basis for
the ‘child-centered education’ ?

(1) Individual differences

(2} Child rights .

(3) The Right of Children to Free and
Compulsory Education Act, 2009

(4) All children are equal in all respects

Which of the following is least important in
the process of thinking ?

(1) Reasoning

(2) Problem

{3} . Generalizations
(4 Memory

The major responsibility of a teacher is to

prepare lesson plans and teach
accordingly
(2) organize as many activities as possible
{3) maintain strict discipline
{4) provide learning opportunities as per

the different learning styles of students

Which of the following is most important in
the process of learning ?

(1) Heredity of child

(2) Style of learning
(3) Examination-result of the children
(4) Economic condition of the child

9.

12,

10.

11.

13.

Tl § Afos qedt # fasfad &9 & wEfw
3t ol 2

(1) Wa=eha @ S=d & e 3w
Ll

el % | us uifefs @ iR
I | fofg o & faw s&

(2)
(3)

FAT
faenfiai &1 Al ofit spifasar & s
AW w1 fg@mE

{(4)

Te-Sfa fer & fau feafafga § € s

FAEH HHN § 7

(1) oA 3R

(2) 9 AfEER

@) st @ frges o afEd fmn w
Afyar tfafrgd, 2009

(4) TH g gf dedl § e Ad €

frafeafag § ¥ sF-w o & afwar § =g

& 27
(1) eon
(2) TI=
(3) HHFATRT

Hfd

ferers = W= g el @

(1) UB-ANET AR F SR IWE AN
Terl

qEYa fRaedl &1 SRS S

(4)

(2)
() TR YR AT T
@) fefidi @ fafim ofem dfwdl &

IR WG F A I HE

dret & w3 faefafe § @ $9-91 9ay
ST HeeEel € 2

(1) o3 &I SRl
(2) drEy & wel

(3) Al 1 qlE-gom
(4) == H nfEs fefa
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The most appropriate way of explaining the [14.
topic “Purification of watler” is by

(1)

(2)

(3)

(4)

The most appropriate logical predicate for
Comprehensive [15.

the

Evaluation should be

(1)

(2)

(3}

(4)

A teacher uses a dice labelled Deseribe,
Predict,

and

completed, the teacher throws the dice and
asks students to answer a question based on
the location of the dice. The teacher is

1
(2)
(3)

(4)

Which characteristic of a teacher ig least |17,
important in inclusive education ?

{1}
(2)
(3)

(4)

R

/er-

(5)

demonstrating the process with the
help of a chart,

asking the students to make a model of
the purification plant

taking students 1o the plant where the
water is purified

reading from the text-book

Continuous and

assessing more than one aspect of
learning

maximizing the assessment

opportunities

promoting the holistic nature of human
personality

increasing the burden on teachers

Explain, Summarize, Deconstruct
Evaluate. Each time after a topic is

conducting formative assessment
provoking thoughts of students

diversifying the thought process of the
students

finishing her/his lesson ‘in a style

Sensitiv_ity towards children
Patience and affection for students

Knowledge
students

regarding disabilities of

Socic-economic status of teacher

16.

])
-YfE” YR F WE w W we afa
il
() W F werad § 9 S 5ol aen
@) o = yiewm @i @ iew a9
% few @@ |
3 foufa #1 sw wie W s et
SE-Tfe oS @

(4) TGF-TETH 9 g

WA SR G qediA & U qies amR 2
() 9 & v A fm wl o s
(2) AT & IEGU a1 s

(3) WY A & 9IRS

@ Tl @ Sy g

T YR U U SR S R W gl
dfed & 1 v o Wi W OF umr e ¥
3 W W feald W i wv A e 2 %
fau fonf¥Et 4 e § 1 s

(1) FUHE T @

(2) Tl & faq = Sefed ax @ @

(3) fofiEl &t faaw sfe o fafedtaor
© &

@) ol @ gl § ue # e W §

wiael fern F forw @ Wl @ Ayl
fergtom w-e & 2
(1) =i & ¥ daeTsiear

@) faafiE & fav amma st &4
(3 fofdat #t swmast = 99

(4) T &1 gfes-2nfs
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22.
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plays a significant rele in the
development of personality.

(1)  Heredity

(2y Environment
(3)
(4)

A blend of heredity and environment

Number of examinations

Mohit likes to teach children and is
preparing hard for the entrance examination
for B.Ed. He is motivated.

(1}
(2)
(3)
(4)

intrinsically
extrinsically
actively
intellectually

“Logical mathematical intelligence” is

associated with
(1)
{2)
(3)
4)

two-factor theory
group factor theory
hierarchical theory

multiple intelligence theory

‘Activity based teaching’ emphasizes
(1)
(2}
(3)
(4)

disciplined class
completion of activity in due time
actlve participation by all the students

taking examination after completion of
activity

A teacher took her class on an educational
trip to

(1) provide a break from the routine
teaching in school

(2) provide opportunily to Chlldren for
du‘ect observation

{3) do the activity specified in the school
calendar

(4) provide entertainment to children

18.

19.

20.

21,

22,

wfhed- T . | TF Aol iR

F frafe e 2 |

(1) SEiE

(2) STamEL
TEfeRAT 3 e F= He

(4) whesH W oEEm

Tfed I TS H TGHT 1 Tl & SET 98

Rug. F W T F A g HewT B 2 |

ERS _IReifE 2 |

(1) s &9 ¥

(2) W ®U H

(3) ghFT ®7 H

(4) wfgs T4 H

“ofm TR afg” ¥ waed #

1 5w fagm

(2) w;smﬁqm

(3) UeITHAS fagrd
(4) agg@ IESEAGH

‘nfafafy smoiE femper 00 0 W
Lo

(1) SFemiEd ey

(2) ghfEa wg-saty § ke @ e
(@) W Rl g w6 SR

(4) TiOfa % W@ BN F W Tl o

e fofar T e H VS 99 W T S
g |
(1) faaem ¥ = ferm € SEen 9
T & fow

maqa?ﬁaﬁésmaa‘[?ﬁraﬁm
U FH F A |
forarers defet § giafraa frasam =0
& fag

T H RS Y &Y ¥ g

{2)
(3)

(4)
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There are three polio-affected children in a 23,

class. During the games-peniod they shouid
be

(1) seated in a corner so that these
children can enjoy the game

(2}  encouraged to take part in the games
appropriate for them, with other
children

(3) allowed to take part only in indoor
games

{4) forced to play with all the students of
the class

According to Kohlberg, ‘Children approach
thinking about right and wrong’

(1) differently at different ages
(2) in the same fashion at different stages
(3) as per the context

(4) as per the instructions given by the
parents

‘Emotional catharsis’ means
(1)  Suppression of emotions
(2)  Feeling highly depressed

(3) Bringing out emotional repression

(4) Increasing the ability to tolerate
emotional repression
Presence of identical elements betwecen

already learnt skills and new skills results
in

{1) Negative transfer
(2) Positive transfer
{3) Ceneralized transfer

{4) Zero transfer

24.

25,

]')
Fe1 ¥ T o= dferdl-w & 1 @9 ¥ sy A
IR
(1) % a7 ¥ 391 afw afs 3 |9 &
AFT A wH
(2) ¥ o= & U 3fgq A F ffew o3
& fau sfsd s wfo

(3) #ad HARF (indoor) Well # frmmr o3
F el afew

(4) w & T FrnfE ¥ o ged % fow
SR SR =Ry

Eﬁﬁaa’i%\’ﬂﬂﬂl( GEl IR Ted F IR N =
faas s & |

(1) T g # oem % @

(2) 3T WOl F W 'Y @

(3) dHof & sgEn

(@) shwES gA s T ¥ emEr

woMEE o & e @

(1) gt & g

(2) 98T IS HWRIE HEGH HE
(3) HAMHE THF ¥ AR TR

(4) HINMHE . THT B WeT I W araar @)
EEEH

T @ W@ S g% wwel ok Tu Sl §
THPH Tl & Iufeafd @ aRony @

(1) TR 3fawe

(2) VHUHS 3

(3) WHEFHA 30T

(4) Y FWW
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A teacher normally assigns different tasks to |27.

the students. He/she believes that

(1) students do not like assigning same
work to all the students
{2) it promotes competition among students

(3) there are individual differences among
students

(4) the students will not be able to copy
each other's work

are involved in thinking,

28.
(1) Image, language, imagination,
proposition
(2) Image, Imagination, concept,
proposition
(3) Imagination, language, concept,

proposition

(4) Image, language, concept, proposition

Continuous and Comprehensive Evaluation 29,

15

Teacher-centered

{1
(2) Student-centered
{3) Assessment-centered

(4) Performance-centered

Which one of the following is least important |30

in an inclusive classroom ?
(1)

(2) More
activity

Lesser stress on competition and grades

co-operative and collaborative

(3)

(4) More
course

More choice for students

effort by teachers to “cover”

T s W faanfial s ererm-swor s
AR § | 97 Tw favam wayEdE @ fF

(1) fomdf & W oFd wd fiE @ ko
Gﬂﬁﬁq‘ﬂaqﬁfm

(2) =@ faafidl § viowel 5w @

(3) FrnfEi ¥ dafrw i A §

@) frmdf t-gR & 3@ # @ T w
Ecal

fomr & wiie d

(1) wfewr, W, e, wfrefa

(2) wfomr, Feq, Heew, soia

(3

(4) S, o, HEhedqT,

T AN A9 AR

(1) femrep-sfsd
(2) -3z
(3)  eT- e
(4) foarEa-smei

ot war § frefafed B @ W@ %W
wEwqut 47§ ?

(1) waafmar st 98 W F9 s9
(2) % Teall U4 TEAnTeRs wfafany
(3) foafqal & fau s faes

(4) &E @ W RN ¥ faw’ fmEl ogw
s 9g
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Candidates have to do questions 31 to 90 EITHER l?'ﬁ&m‘ﬁﬂ? &t 9T 31 # 90 g1 @t WIiT I (’Tﬁﬁf -8

from Part II (Mathematics and Science) OR from ﬁﬁp{) qr 9T 11 (Wﬁ'ﬂ? I/ QAT f&m)
Part Il (Social Studies{Social Science). g &3 g\ /

PART II / 99T 11
MATHEMATICS AND SCIENCE / nfod 9 fasm=

Directions : Answer the following questions by 33y : el v & I @ fore wawd 3faa

selecting the most appropriate option. fascg aﬁg /
31. The value of [2-3(2- 317 is 31, [2-3(@2-3° ' @ AT &
(5 (1) 5
2) -5 9 _5
1
t 1
(3) 5 (3) =
1
4 - = 1
5 4y - 5
32.  Which one of the following statements is not 32. 1 sud ¥ @ #5594 g9 787 ¢ 2
true ? . '
4 =8
() 64 =8 M e
J04 =02
@ Jo4 =02 (2)

@ 0TE Uy den ¥
(4) 243 CF O w2

(3) 0 is a rational number

{4) 243 is not a perfect cube

9310 _ 5301 5310 _ 5301 .
33. The value of the expression ——ZST_. is |33, =ASE = "'ééo'{i"_ & A B
(n 2°-1 m 2°-1
@ 2°_1 @ 203
@ 2@% -1 3 201
(4) 20 -1 (4) #

SPACE FOR ROUGH WORK / I% &1 & fie sne
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36.
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One of the factors of =2 — 72 y2 - 2xy is |34.

(1) z-v+z
2) x+y-2z

3 z+y+z

4) v+z-x

The value of 22 + ab + 3) — ab  when [35.
“a=5 and b=-3, is

1y 23

{2) 35

(3) 41

(4) 53

Aman is now fifteen years younger than [ge

Abdul, After six years, Abdul will he twice as
old as Aman will be then. If the present age of
Abdul is x years, then we have

M 2x-9=x+6
(2) x-9=2x+6)

B) 2(x-15)=x+8

4) x~15=2(x +6)

- 2% + y? —2xy W UF WHET @

(1) X—-y+z
(2) x+y-2z
(3) x+y+z

4 yvy+z-x

Wa=53ﬁTb=—3@, Fﬁ2(a2+ab+3)~ab
H I 2 '

(1) 23
(2) 35

(3) 41

(4) 53

3 T UG g W UE 9 oy § | @
T UER, FKW F A I G W I L
WY H QI @ G | Ak swgw R adgw
MY x o 3, 79 g W 8

(1) 2(x-9=x+6

(2 x-9=2(x+86)

3) 2(x—-15)=x+ 8

4) x-15=2(x+6)

SPACE FOR ROUGH WORK / X5 & & fore swm
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(11) P
37. The compound interest on T 36,000 lent at 37. 7 36000 W 10% IF = @ 21 5 &
. . . ' ’ 2 !
]Ofy [ 2— ars f ] 1 TS
% per annum [or 2 years, 11 Lhe interest : , af Mg wy @ o
is compounded annually, is B-Tﬁ 2 ?‘)\
(1y T 7,660 ' (1) 2 7.560
(2 ¥ 9,000 2 7 9,000
@ T9738 (3) 79,738
@ 16 (4) % 11,916
standard form as ¥ o fpar < B
(1) 123 x 10_]2 (1) 123 x 10712 '
2y 123 x 10711 @ 123 x 10-1
(3) 123 x 1071° @) 193 « 16-10
@ 0123 x 107 (4) 0123 x 107
39. Sum of mode and median of the data 39. affFal
12,15, 11, 13, 18, 11, 13, 12, 13 12, 15, 11, 13, 18, 11, 13, 12, 13
" % wged Ul WeAE B AR 8
(1y 25 (1) 25
2y 26 (2) 26
3) 31 (3) 31
(4) 36
{4) 36
40. T FR 1782 i &t qU 44 = # 7@ FA@
40. A car covers a distance of 1782 km in é | 3IQ ER g 12 83 H ag &) T@c ?&ﬂ
4-4 hours. The distance (in km) covered hy the By 3 _
carin 12 hours is (Tepelt )
(1) 405 {1) 405
(2) 407 (2) 407
(38) 486 (3) 486
(4) 502 (4) 502

SPACE FOR ROUGH WORK / Y% &1 & fée e
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43.

R4
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In the figure, £ 2 = £ 3 = £ 4 and
£ 5 =150° Then £ 1 =

9
\E\K‘

< —

(1) 100°
(2) 120°
(3) 130°
(4 140°

Prime factorisation of two numbers a and b
are

A=2x2%x2x2%x83x5
b=2x2x3x3x5x5
LCM of a and b is .

(1) 23 x 3% x52
2) 2%« 32 « 52
(3 2% x3%x58

(4) 9% x 32 x 5

In A ABC and A DEF, AB = EF, BC = DE
and £ B = Z E = 90°, Then A ABC = A FED
by the criterion

(1) SS8
(2) SAS
(3) RHS
(4) ASA

41.

42,

43.

T H, £2=s3=,43K5=150°% |
&L=

A
2

\5\\ g

(1) 100°
(2) 120°
(3) 130°
{4) 140°

& Hemel o 3 b & Hws MEE ¥
a=2><2><2'><2x3x5‘
b=2x2x3x3x5x5

a #K b & AH, (LCM) 3
1) 2% x 3% « 52
@ 2%x 3% x5
(3) 2*x3%x5°
@) 2%x3%x5°

AABC?;ﬁIADEFﬁ,AB:EF, BC = DE a1
ZB=sE=90°% | T A ABC = A FED f3
et SEtet & 3

(1) SSS

(2) SAS

(3) RHS

(4) ASA
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45.

46.

47.
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In A PQR, side QR is produced to a point S,
and exterior angle PRS = 100°. If RP = RQ,
then measure of £ PQR is

(1) 50°
(2) 70°
3y 75°
(4) 80°

6 N 61
1000 10000

The value of 6 + i +
10

(1) 6-167
{2) 61021
{3) 6221
(4 61121

A polygon has a perimeter of 16 cm and an
area of 16 cm?. The shape of the polygon is a

{1) triangle
(2) square
(3) hexagon

(4} rectangle which is not a square

A square field whose area is 36 m? and a
rectangular lawn whose width is % of the
side of squarc field have the same perimeter.
The area (in m* of the lawn is

(1) 24
2y 32
(3) 48
(4) 64

44,

45.

46.

47.

]')
APQR#H, W1 QR I g s 7% wgrar w #,
N =T R PRS = 100° 2 | 3R RP = RQ
7, @ - PQR# TN B
(1) 50°
@ 70°
(3) 75
(4) 80°

1 6 61
6+ — 4+ — + —

10 1000 10000
(1) 6167

A

(2) 61021
(3) 6-221
(4 61121

fesil sigyet a6l oA 16 Rt aar Bwe 16 T2
2 | 7% T 3

U TER W, Sww f§9wa 36 W2 F oay
UF SR @q, e diel anien g
aﬁgmaﬁ%%,%wwﬁw%lﬁqm
gaRe (% ) @

(1) 24

@ 32

(3) 48
4) 64
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Circumference of the base of a right circular
cylinder is 44 cm and its height is 15 cm.
The volume (in em?) of the cylinder is

(Take n = 2;—2)

{1y 770
(2) 11585
(3) 1540

(4) 2310

Radii of two circles are 8 cm and 6 c¢cm. The
radius {in em) of the circle having the area
equal to the sum of the areas of these two
given circles is-

(1) 9
(2) 10
(3) 12

(4) 14

A box with inside measurements

60 cm x 30 em x 24 cm is full of wooden
cubes of the same size. If the number of
cubes ig 25, then the side (in c¢m) of each
cube is

(1) 6
2) 9
(3) 12

(4) 18

48,

49,

50,

frelt dF-gd SeF & R &t aRfy 44 S
2 ot soat TuE 15 QW R | W # e

@ H) = 2 e

1) 770
(2) 1155
(3) 1540

(4) 2310

3 gat # Freamt g T aan 6 TAHE | =W W
F frem (W0 #) g davd 3 9 R g
g & Sawel & ATee & w8, fre 8
W 9 |
@ 10

3) 12

(4) 14

Hiafts 79 60 T x 30 T x 24 Wl T TH
T ARGl h TS & WS & WA W W g
21 9 WA B g gEm 25 @, A s W
& o (@ ) 2

(L 6
2) 9
3) 12

(4) 18

SPACE FOR ROUGH WORK / X% o7f & fore st
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Which of the following questions are open
ended questions and can be used to enhance

mathematical thinking ?
{1) Find the solution of 2x + 4 = 8

(2)  Write a real world problem for which
2x + 4 = 8 1s a solution

(3}  Verify that x = 2 is the solution of the
equation 2x + 4 = 8

(4) Plot the graph of 2x + 4 = 8 on

cartesian plane

In a Computer Aided Learning (CAL) class, a
teacher ran a programme on screen about
“Triangle’ and sat behind in class as an
observer. This type of computer aided learning
based on programmed learning may be

disadvantageous as

(1} students may feel lost due to absence of
teacher — pupil interaction

(2) students get every information in

sequential manner

(3) students get a chance to understand at

their own pace

(4) students are responsible for their own
learning

52.

])
frefefas & 8 #9-@1 7w go-of amen e
& 9 T/ foria faew e ¥ f wgw
W owEm g 7

(1) 2x+4=8 & & Td I

(2) UH dIgS S Fowwen fafEw fyes
fTe 9x + 4 =8 W& & &

(3) fog ST & x = 2 U0 2% + 4 = 8
B 2

(4) SMFE 090 W 2x + 4 = 8 F AAG
wifew

uF fefershr wvget werms S (CAL) ®e
WH WP F 9 H uE FEmn gee 2
it wy # 98 H MR vE whHew ¥ v
da St & 1wl o W oarafE =g
TER & FHEY TETE e | g e

¢

(1) Torrs - ] sfafean & srquftafy &
SR foramdf srgrieg # o wwd €

(2) foaedl sods Yo e @n ¥ oy
¢

(3) fomnféRll =t a1+t g % SwER wHeA
H A e @

(4) fdf o o & fov =g fidier
g
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54.

55.
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Relation understanding is preferable over
instrumental understanding as it helps the

{1) child tc make connections between
different mathematical ideas and
makes it easy for him to solve the

problem

(2} child to understand algorithm of the
problem and makes it easy for him to

solve the problem

child to apply mechanically the
procedure without going into reason
and he can solve the problem easily

(3)

(4) child to identify appropriate formula to

be used and he can solve the problem
easily :

‘Concept Map’ cannot be used for
(1)
(2)
(3)
4)

planning a lesson
revision of a lesson
summative assessment of g lesson

formative assessment of a lesson

A teacher asked the students to write the
following statements :

(i)
(i)
Students responded as 2x + 4 and 3x - 7,
while the teacher was expecting 2 (x + 4)

and 3(x — 7). The above mistakes have
occurred due to

(1) lack of
expressions

Twice of x plus four

Three time x minus 7

understanding of linear

(2) lack of appropriate practice of writing

linear expressions
(3)

careless listening by students

language used by teacher

53.

54.

55.

WAy & g A W W qer d e
=ity 77 frefofad § oo & € |
() T=d g fafiw 7 foemd &
T 99 H gerae #dr @ 3R
U G- 9 & W S 3
e N WHE ¥ U w1 wugd d
WEa g N Ik

&

OGN ® WA w8

()
(3)

aeq1 WA fRT W oA Sfam g R
qaqwaﬁtﬁchdr%aﬁtwﬁwr
F WAYE S TR

% fog s

(4)

“GEHeqdl HHERET
78T fohar o WAl |
(1) B & A
(2) TS # TREN
(3) UB F AMAE AHe
4) B & FUHF AFHAT

= o faaffat =0 fafafeg w@ e
% faw Fed 7 -

() x& gHE A IR 5w

(iy o9 I x 9T 7

fomdf 2x +4 SN 3x—7 F & § wkrw
3 & wale fofemm 9 (x +4) 3N 3(x—T) F
I W W A 1 3w ffe B
HNT T3 |

(1) = e 7 993 F 39

(2) %@Hmﬁaﬁﬁ@ﬁ%aﬁﬁmﬁ

ﬁmﬁﬁm@ﬁmﬁ
forrs g0 wg<h W

(3)
(4)
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56.

57.
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A child of Class VI is able to {ind solulions of |56.

given linear equations but is not able to solve

word problems. The child is al Piaget's
(1)  Sensori-Motor Stage

(2)  Pre-Operational Stage

(3)  Concrete-Operational Stage

(4)  Formal-Operational Stage

To  help the students
Geometrical theorems Mr. Masih divided the
clags into small groups and asked each group
to cvolve the proof of the theorem by mutual
discussion, His objective of using this strategy

18

(1) to engage the students in discussion
and independent learning

(2) to compel the students to open the
text-books, read the vproofs and
understand on their own

(3)  to engage the students in collaborative
learning

(4} to allow the students to be active
participants in discussion, test various
possibilities and reach a conclusion
after reasoning

writing proofs of 57

I)
F VI F TF = fou T g g &)
B §@ FA oA @ § afEa vt
qAESl F g AE Ul | aem fErs W@

(2) ge-Uikarms sy
(3) Td-wiRaers ateen
(4) sftqafs-dikarers smaear

ool 37 weEar s & faw Fen =)
BIe-BR wE § dzd ¥ ok & wp @
HUE 9l g AT & WAy faefad s ¥
fau #gd 8 | 39 WHIf & 7@ T w5 3T

=Y ¢

(1) W o =d dred # faafiE o
&

2y foafeRl # seE-was @,y
g4 3R Wd §HeH & U fagyr S

(3) UedMensh sifem § faenff =7 wnfie
FET

@ T faufEl w1 uhs wrfefa
fram, fafm dwmearei #) sie &= oh
T & a) el |/ o g
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58.

59,

60,

ver,!

Manipulatives in Mathematics class are used

to

(1) demonstrate mathematical ideas and
construct mathematical understanding

(2} engage students so that they do not
interact with each other and maintain
discipline in class

(3) give first hand experience to students
in order to make them good problem
solvers -

(4) make students more skillful by having
concrete experiences

Link Sheet is a useful tool. It looks as below :
Concept :

Mathematics (Symbol) |Everyday Example

Diagram/Picture/Graph| My Explanation

This tool can be used

(1) to introduce the topic on Similarity, for
checking the previous knowledge of
Congruency

(2) to explore the concepts of Similarity

(3} to build the basis for theorems in
Similar Triangles

{4) to assess the understanding of Basic
Proportionality Theorem

Major aspect of Inquiry based lesson plan is
(1) Exposition

(2) Exploratory tagks

(3). Extended learning tasks

- (4)  Cross curricular integration

(18)
58,

59,

60.

T T e W g e R o ¥
(1 TR fq=ER = wel¥E s=@ st i

(2) foofaal # =@ @ F fov afs 3
LEG N I H e B e -
AR W

3 foof™l &t s =1 geer gurMEEd
gﬁqﬁ%fwﬁmmﬁsmﬂaéﬁ

ferg

@ T erpaEl TN Rnfid @ s g

fdd M (Link Sheet) U&H IUGFY IqETT 7 |

T 7 & e fewar g

HeReGAT « .

TToT (Hee) T & e
ma/ /e T TEIT

T ITHROT F A fwar 1 g 8

(1) wEmaeas & © §9 @ §e w9 %
T, waeqar & ST ® TEE & %
ferg

(2) TARYA F GFEeel F oIWRA % AU

(3) wwEy fs ¥ wHal & v R dIR
& fau

(4) WY TIEEE WY S §Am w
e WA % fog

TRy SHIRT T3-S 1 [T T 2
(1) =

@) TOewE w4

(3) Towfta =1t &

(4) Y ISITEAT THHT
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62,
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Malaria is caused bv a 61,
(1) Protozoan
(2y  Virus
(3) Bacteria
(4)  Fungi
Cellulose is made up of 62.

(1) loose cells
(2} polycot
(3)  terryeot

{4) glucose

A teacher while teaching a concept frequently
takes feedback from the students. This

practice may

(1} be termed as Formative Assessment’

(2) disturb the thought process of students
and hence should not be done

(3} deviate the teacher from achieving her
objective

(4) establish a conducive envirenment in the
class

Which one of the following is a reason for a
teacher to consciously introduce different

stimuli in her lesson plan ?

{1} Tosee the‘effect of this experiment

(2) To address different learning styles of
students

(3} Itis recommended by her Principal

(4) To prove her excellence in the knowledge
of the subject

63.

64.

I')
oD 1 e §
(1)  Wrshar

(2) AR
(3) daifn

(4) W

TAns Y @l ¢

(1) T Hiforemeit
(2) dlelaic
(3) =ie

(4) ‘ﬁ?ﬁ S

T T dern yed uww faaidal @

Wm(feedback)é?ﬁél

() 39 8 R TOHAF AFeT *@
Sl &

(2) = fwwr faofdat & Faa-sfen &
fear s =nfgw

(3) ¥ fwa s &1 3o% <=vdl # wfg
faafaa #1 wear 2

g
(4) 98 foba Far ¥ W& waEor &1 fEi
EgiecTii i

frfafeEd § 9 @8 w91 s m 2§ faaet o
H wF o $1 Ao we-de § v w9
fafsrer SETat & = 2 =fgy 2

(1) 39 T2 & e 2Ey % fo

(2) Toofddi &t fofim «fiem siteEl &

et #9 & fau
3 %wﬁmﬁﬁa@fﬁaﬁé

(4) f9a ¥ A9 g9 # IpEa W waE
4 & fau
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66.

67.

68,
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The distance - time graph for the motion of
two vehicles A and B is given below., Which
of the following statements is true ?

A

B

Time —

»
>

Distance ~——p
B is moving faster
Both A and B are moving at the same
speed
It is not possible to find out the relative
speed of A and B from the graph
A s moving faster

(1)
(2)

(3)

(4)

Phosphorus is kept in water to
(1 '
(2)
(3)
(4}

purify water
make water soft
prevent its contact with oxygen

denalure it

The calorific value of a fuel whose 1-5 kg of
mass produces 67,500 kJ of heat on burning
completely will be

(1) 45,000 kJ/kg

(2) 30,000 kd/kg

(3y  1,01,250 kJ/kg

(4) 1,01,250 kg/J

While organizing an activity in the classroom
for students to have hands-on experience,
the role of the teacher is to

(1) ask students to carry out the activity

striclly as per the instruction given

supervise students and provide guidance
wherever required

(33 give all the freedom to students to carry
out the activity on their own
t4) instruct constantly so that students

achieve their results without making any
mistake

65,

66.

68,

o A SR BE M % R 36 - e A
e fear mar & | Prefefew 8 @ dhew gy
wd g 7

B

Y —

@—

B o i R @ = @
AFR BIE w9 1§ w9 W@ R
AE W AR BF W T oww
g T 2
(4) A SUgFd dm M § 99 T R
HERRE & g F T o @
(1) S ® [E FA F g
(2) 9 @ g N F A
(3) N & WY T9F dudh F dw F fe
4) IEH Yo FHA W Ao F fo

(forepfereraoT)

S H I AF fawE 16 B gemm qf
®Y Y T W 67,500 Rl @ I I
T E, T 7

(1) 45,000 fpalt S@/fFm

(2) 30,000 kA" i/

(3) 1,01,250 el St/ fopm

(4) 1,01,250 fepmT/SRT

Py W foffEl ®ogwwE emwe 3 ¥

ferw nfafafy &1 smEm W w5 & o 9

i 2

() fE M frdell & sER W wy 3
nfafafs % & faw e B s

(1}
(2)
(3)

(2) fenfedi a1 wfaem won o wEl o

g H AEIARAT @1, WOeyH Iy

HAT
(3) fonffal =t o afs 9 iy el 3
faw quf e &
(4) TR fRW 3 o fd fe e
Tordl R o9 YRl #F oW W wS
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72,

73.
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The best way to make students learn a topic |69.

in Science 18 to

(1) ask them to take turns to read the topic
aloud and then explain jts meaning

(2) create a situation which prompts the
learners to ask questions and help them
to seek answers.

(3) discuss the topic in detail and write main
points on blackboard

(4) discuss the application of the knowledge
based on topic in day-to-day life

Biosphere reserves conserve

(1) wild life 70.

(2} traditional tribal life
(3) forest resources
(4) Al of the above

A prokaryotic cell is characterized by
(1) well-defined nucleus

{2) absence of nuclear membrane
(3) presence of nucleolus

(4) relatively young age in comparison with
eukaryotic ceil

Which one of the following is correctly

matched ?
(1) Estrogen — Male hormone

{(2) Adrenaline — Stress reliever
(3) Insulin — Provide insulation in winters

(4) Eve’s pear — Girl's neck

Which one of the following is the correct
increasing order of the rolling, static and
sliding frictions ?

{1) Rolling, statie, sliding

(2) Rolling, sliding, static
{3) Static, sliding, rolling

(4) Shding, static, rolling

71.

72,

73.

l]
faafidl s/ fasm & o= W w9 @
UF wae a2
(1) ¢ I-a0 F T W G U3 w0
M 3oF W€ 0¥ o B Wy =@ F
fer wgn

(2) U uifefy = v s S fernf
e & fau Yanfa st 8 ek
T Y 6% 958 FHET

(3) YO F ar # fawn & == w00 ak

WYz W e fag fag
(4) U ST F v W ool TH %

FET H T

Ha-Hee - & HETU Al
2

(1) 9 Staq

(2) TWUUTE arfeard) shad

(3) IH-HIH

4y STF

NHEfes Hifoem @ fagive 2

(1) well-¥&R ¥ Wfad dew

(2) s faeell # srgufiafa

(3) iz # Iufeafa

(@ yHIEfes Rfom & qan § e
ECiikr:

frafafea § ¥ SH-91 o o & 2

(1) UTERHE - J65 gaH

(2) UgAAR — FE-HfhFT

(3) Yo — Sfeal § goerstor/Ael suees w0
(4) 39 &I feR - agea & e

defrs, Wi st aff s = EefRe ¥
A F-9 wE aEd wH g 2 |

(1) diefe, wios, adf

(2) el wdl, wifas

(3) wdfas, 9, oefw
(@) wdf, wifgs, el



http://upscfever.com

78.

79.

80.

81.

 (4) loss of the surface protein

R4
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(23)

Which one of the following is a fossil fuel ?

{1} Compressed Natural Gas (CNG)
{2) Liquid Hydrogen (LH)
(3) Polyethylene Terethaléte (PET)

(4) Low Density Propane (LDP)

Which one of the following statements about
myopia is incerrect ?

{1> A myopic person wears spectacles having
concave leng

{2} Myopia is caused due to elongation of
eye-ball

(3) A myopic person cannot see nearby
objects clearly

(4) The far point of myopic eye comes closer

Washing the rice many times using a large
amount of water before cocking leads to

(1) loss of vitamin ‘E’
{2} loss of vitamin ‘B’

(3) loss of the water—soiuble carbohydrates

A Merry-Go-Round is  moving at a
non-varying speed of 10 m/s. It implies that

(1) it is moving with uniform velocity
(2) it is moving with uniform acceleration
(3) it is moving with uniform speed

(4) the actual distance covered by swings
with respect to each other is 10 metres

78.

79.

80.

81.

I')
frafafaa & @ =-w g (Har) fam
g

(1) wHve Ra (@)
(2) fafee e (ve w)

(3) uiferafea Jtaee (G )
(4) @ AR Wi (T € W)

nEifen & s A Frafafgd § 8 s sem
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(1) wEfrg difed =afe seas o= F v
RrREGI N

@ "EfE YEes Ao ¥ FRm
Bl @

(3) WA 4 dfsq «afs fae &1 awgel
H WY W T W gl

(4) wEfE ¥ dfsq st @1 qwe fg

5

e 27 9 @

THH W Ugel "Ed i S W oa ue g
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(1 faefm € w8 o 2
(2) faRifE W T8 @ S @
(3) wa-facta FEfEESew AE & S ¥
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(4) UH-gW & Wy fEl gw o # o
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Which one of the following alloys contains
non-metal as one of its constiluents ?

(1)  Amalgam
(2) Steel
(3)

(4)

Bronze

Brass

When white light passes through a prism,
the colour which bends the least is

1
(2)

Indigo
Red

(3)
{4)

Orange

Violet

A student exhibits the following three traits
A, B, C. According to the three domains of

personality,
A B C
Does not Tells the Accurately
waste the chemical measures the
water while formula of | volume of a
using it water sample of
B correctly water

which one of the following is a correct
sequence for the three different domains ?

(1)  A-Affective, B-Cognitive, C-Psychomotor

{2)  A-Psychomotor, B-Cognitive, C-Affective
(3>  A-Cognitive, B-Psychomotor, C-Affective
(4)  A-Cognitive, B-Affective, C-Psychomotor
Metallic oxides are in nature.
(1) neutral

(2} acidic

(3) Dasic

(4) amphoteric

74,

75.

76.

1.

Frefafan & & -8 fawurg # o8
des & w9 § oy € @ 2

(1) 9rg frgor
(2)
(3)
4y dad

5o B § R ved YE S R 9 8
o TS w9 e €N A 1 3

(1) A (indigo)
A

A

St

(2}
(3)
(4}

U faardl frfafad &9 o A, B, ¢ wefim
U 8 | wIfEe & A e eTen,

A B C
g @ ITER | O & T & TR
& gC IW | TUEE I | F e @
wale 6l F% | W Fan § T
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(4) A-TYFTERR, B-9ETEE, C-HARE
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(2) s

(3) &mW™
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Which - one of the [ollowing is most
appropriate with reference tv Science and
Technology 7

(1) Science follows sclentific method while
Technology does not

(2) Science is more ereative than Technology

(3) Science is epen-ended while Technology
is goal-oriented

(4) Scitence was present in ancient times
while Technology was not

‘Historical Validity’ of Science curriculum is
necessary to

(1) view science as a social enterprisc

(2) counterbalance the scientific validily of
history

ensure the correctness of dates of
scientific discoveries in the past

(3)

(4)  prove that history is as natural in nature
as sclence

‘Inquiry Based Curricula’ is based on
(1) Deductive reasoning
{2) Inductive reasoning
(3) Heuristic reasoning

(4)

Analogical reasoning

‘Science Curriculum’ should aim to
(1) develop stamina to work for long hours

(2) supplement the content with a
pedagogical strategy to be followed by
all the schools

(3) compartmentalise subjects to achieve
specialisation

(4) cultivate objectivity, critical thinking
and freedom from fear and prejudice

B2,

83.

84.

85.

fagm wd woAE & wed § frefafon # @
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I

(3) fvwar @ = % fAw Rl W
FHFT-3AT FZAT

(4) aﬁﬁw A o wd W o e
A o w1 fad FET
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88.

89.

90.
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Which of the following is among the
principles proposed by the NCF, 2005 for the
development of curriculum ?

(1)

\\

(2

Making examinations more flexible and
integraling them with classroom life

Ensuring that the learning takes place
unhurriedly to relieve the stress on
students '

(2)

Ensuring the preclusion of controversial
references in the content

(3)

(4} Updating the level of learning to the

international level

The largest gland in the human body is
(1)
(2)
(3)
(4)

Pituitary
Liver
Adrenal

Pancreas

Which of the following is present in the Acid
Rain ?

(1) Sulphurous Acid

(2) Nitrous Acid
{3) Carbonic Acid
(4) Carboxylic Acid

Which features adapt polar bears to live in
extremely cold climate ?

(1} A white fur, fat below skin, keen sense
of smell

(2) Thin skin, large eyes, a white fur

(3) Small eyes, strong claws, white large
paws

(4} White body, paws for swimming, extra

gills for respiration

Which of the following is used in place of an

‘Electric Fuse' ?

(1) A small piece of wire having high
melting point

Miniature circuit breaker
An ISI-marked electric switch

A small piece of insulaling material

(2)
(3)
(4)

86.

87.

88.

89.

90,

I)
wreareE fafem w0 % fau wie veEed @
TWRE, 2005 % W Ffafad § A osEew
fagra gamar mn & 7
(0 weml ® W@ de A ek
w-FefT dET & WY UEE HE
77 ghfrad s ff e & o @
¢ FH F fov g s aid § @
ferg-ar] 3 ferarerere wWedl & Framm @
GiHfy=a =
(4) JANTE T a5 HEd § " B A

a.,_{:”' .

(2)

(3)

qE-vR § w=E a9 d9fy @
(1) freged

(2) faat (3Fa)

(3) UfETd

(4) iferas

e ant 0 faefufEa ¥ ¥ @9-w s
ST B & ?

(1) UERREY 37

(2) ARZH A

(3) FMEfTH T

(4) FEiEFE 3t

i ¥ Serar] § T 9 g6 A -9

forioar Td ® 2

(1 &%2 &, == F A 99, T # A
i _

(2) Oqel @, 9€ MW, WHE W

(3) DI G, TeEd U9, e a8 49

4) H¥e TR, 9@ ¥ fou 9, A F
fou srfafte fird (TTeTaT)

Tagda W & e frefafad 9 e
Tuam fear o @ ? |

(1) 3= ToHE A 7R OF BT ZhST

@) @Y IRy fesaw .
(3) R.um.E. fog A gwfes fee
(4) T wmdi ¥ UF DT HFST
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P (26)

wienEat w qvT 31 & 90 ;W A WPT 11 (T &

Candidates have to do questions 31 to 90 EITHER

from Part II (Mathematics and Science) OR from
Part LI (Social Studies/Social Science).

FFT) AT ST 11 (TR Sy AraiE )
qaw gy

PART III / 917 11X
SOCIAL STUDIES / SOCIAL SCIENCE (93 37e0as / Ao s

1. According to archaeologists, during the [$1. YURRRRI ¥ SR, ROAENT e § 3w
Paleolithic period, ‘factory sites’ were el o
(1) places where the food was stored (1) T gl o uhT w5 4
(2) places where stones were found and (2) 9 WE W@ yRE RIS 11 sy
people made tools AER T 2
(3) places where clothes were made from (3) o T il ey o @ ¥ FYS AR
the animal skins bt
(4) caves where paintings were drawn 4) I T?ﬂ'i e o = T o
82. In which of the two Harappan sites has 32, T 9 I9-§ o REWREAH A 4 gl
evidence of the ‘fire aitars’ been found ? SRS ¥ T 9T T ?
(1) Mohenjodaro and Harappa n Fﬁﬁ:ﬁﬁa‘sﬁ I gy
(2) Harappa and Kalibangan @) FEw st s
(3) Kalibangan and Lothal 3)  FefEm R Fge
(4) Lothal and Mohenjodaro () e aii ﬁﬁ?ﬁ'ﬁ?@f
33, ‘Megalithy’ are 33, HEIIOT (dmfae) ¥
(1)  stone tools used by Paleolithic people (1) SRR ”ﬂ'&ﬁ S TR fiFw Mo
{2)  burial sites T 3SR
(3) remains of comets and asteroids (2) Bl
(4) sculptures worshipped by the Harappan (3) W 3t SEET + 37avy
people (4) TSUEHEAT L T G A A g
34. A tax' WAaS termetli as ‘bhaga’ during the' 84. HETAYE FT % R T2 TE O aqaﬁ a,
Mahajanapada period. What was the rate of , -,
bhaga ? SR ETE W Y| W g e o )
(1) 174" of the produce (1) ST 143
(2)  1/2 of the produce (2) IR #1124
(3) 1/8™ of the produce (3) e S0 1/39
(@) 16" of the produce (4) IR F 16

———
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35.

36.

37.

38.

R4

Frevers

(27)

Which one of the following classes was a |85.

prominent supporter of Jainism 7

{1) Brahmanas
(2) Kshatriyas
(3) Vaishyas

(4) Shudras

Who among the following believed that only |3¢.

those who left their homes could gain true
knowledge ?

(1) Mahavira and Parshvanatha
(2) Mahavim and Buddha
(3)  Vedic sages

{4) Buddha and Makkali Goghal

‘Shrenis’ were g

(1) Coins issued by Kushana rulers
{2) Degrees of Vedic education
{3) Associations of merchants

(4) Parts of temple architecture

Which of the following rulers were defeated by
Samudragupta but were allowed to rule after
surrender ?

{1) Rulers of Aryavrata.
(2) Rulers of Dakshinapatha
(3) Rulers of gana-sanghas

(4) Descendants of Kushanas and Shakas

l)
ST & w@ gnds fmEfafan of § 4
g ?

(1) A&
@ &hT
(3) @y
4 =

frafafaa 4 ¥ o favam o & Faa &
I W W BiEd § 4 @ Wew §gH W W
Tahd & 7

(1) #egER wd qredAY
(2) TR Ud g3

(3) dofes wd

4) T8 TS "ahel e

‘Qforai &

(1)  Fomr wiEal aw S faas
(2) dfcw fomm = fefind

(3) =AWRA & HTeA

(4) WY amegeRen & fEe

EE F0 frafafen § @ fET s @
i R T W] OO R o 9 3
WET B H oA § T off 2

(1) g & wes
2 <oy F IS
(3) TU-HEl % IS

(4 TUOT AR TF FW F g
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39.

40.

41,

M
[

43.

/el

(28)

Aryabhatta, the great astronomer,
member of the Court of

wus a
(1)  Chandragupta II

(2)  Bamudragupta

(3) Kanishka

(4) Harshavardhan

Rulers of which dynasty had been called as
the Lord of dakshinapatha ?

(1) Chola
(2) Vakataka

(3) Satavahana

(4)  Shaka

Ashvaghosha had written the biography of
Buddha — ‘Buddhacharita’ in which of the
following languages ?

(1) Pali

(2)  Prakrit

(3) Sanskrit

{4) Apabhramsa

Hangfi’ and ‘Shafii’ are

(1) Islamic schools of law

(2)  Islamic schools of architecture
(3) Islamic schools of theology

{4) Islamic styles of writing

The primary duty of Samantas towards the
King was to

(1)  pay taxes
(2)  provide military support
(3) be present in the court

{4) entertain kings

39,

40.

41.

42,

43,

v W Mg % waR §
ol ¥ |

(1) =g« fadfw

(2)  WH

(3) wiT=h

(4) w¥aHT

R Tt & W F AUy & e .
AT 7

(1) @

(2) FFGF

(3) WA

4y v

Sy 4 gy H W —  ggeRe
frfefes 4 9 forg wwr § fagh @ 7

(1)  greft

(2) HFd

(3) T&pa

(4) 39Fyr

(1) I F sEihs frawe

@ AR & IS ey

(3) wiftwy & st faame
(4)@1@?@3’@@%%

ST & wfd ng@mm

1) W GFE
(2) W TREE STemy S

(3) @R H TR @

(4) TSSH & AR HET
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44,

45.

46.

47.

(4) Notified criminal tribes

R4

Frever-

‘Dehliwal’ was 44.

(29)

(1) a resident of Delhi
(2} a coin of Delhj
(3) a fort of Delhj

(4) a type of woollen cloth

Delhi-i-Kunhe’ and Jahanpanah’ are

(1)  Titles possessed by the Sultans of Delhi
(2)  Canals built by the Mughals

(3)  Cities built by the Sultans of Delhj

(4) Designation of higher officials in the
Mughal period

‘Black towns’ were established in India by {46,

European companies

{1) to use African slaves for working in the
factories

(2) to confine native traders for impeding
their trade

(3) to corner Indians and dogs so as to
prevent their entry into the British
clubs

(4) teo imprison those who were against
-their companies (Kala Pani)

Devanas, Chhipigars and Rangrez were

(I) People engaged in the process of
making clothes

(2) Officials working with the East India
Company

(3) Temple officials of South India

45.

47,

p
g’ 41
() fewelt #1 s framd
(2) fooolt %1 v faaen
(3) fwlt #1 ww fapen
(4) UF YFR F I T

(1) fooedt gear gm o sufugt
(2) el g g T e

(3) feoeil geram g fAfid v

(4) T W H 3= Ayl § geqm

R FufEt g 9 A T 2 Black
Towns’) & T F) Tl'if

(1) Wﬁmm%maﬁaﬂgﬁrﬁf
# IO FH ¥ fau

2) WHE =ufE & e W O T
8] 3% ol #0 ¥ fg -

(3) WRAE a9 F A R WS ¥ few
s 37 st gt § wdw 7 &
(4 3R H @ W) T oS s
U & fawg 9 '

(1) o I A F uEw § mine =fs

(2 I W A F oww w9 an
I DRy

(3) aﬁm IR & Hfer-ifrt
(4) ofYgia el sHsnfar
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48,

49.

50.

51.

/eI

(30)

The East India Company wanted to sceure
the control over North-West and fought wars
with Afghanistan

(1) as they wanted to reach the natural
political boundary of India establishod
by previous rulers

(2) to control the trade passing

through Afghanistan

route

(3) to counter the Russian expansion in
Asia

(4) as they wanted to attack Persia to get
the booty

-Vernacular Press Act, 1878 was passed to

(1) allow Indians to print newspapers and
magazines

(2) allow Europeans to print newspapers
and magazines in India

(3) silence the voices of those who were
critical of the British government

(4) allow printing in vernacular languages

Khilafat Movement was started in 1920 to
(1) unite Muslims of India

(2)  co-operate with the Congress in the
national movement

(3) protest against ill-treatment meted out
to the Khalifa of Turkey

(4) counter the movements of Muslim

League

Which of the following is true with reference
to 180° E and 180° W longitude ?

(1} They are opposite to each other
(2} Both are the same
(3) They are 180° apart from each other

(4) Distance between them always remain
constant

48,

49,

50.

51.

2 T o sw-ufyew W Briyer T
W e A AR S sremieE ¥ gw o)

(1) 9% a8 7@ v ghownfeg vRe &
Sl Terfs demel Tw ugeAr e
4t

(2) HEMEH ¥ FA o sqR-an1 ®
fraaur & fag
(3) ufymn ¥ w9 % fown @ GOy w0 % b

(4) HifE 98 IRE W AFAT FE 2
Ut o AT @

qaipe 39 Uae, 1878 wifd fEa

|

(1) 9EHd ® TER-vF T B e ®)
Al 3 F A

(2) 9°d H §HER-17 v uEed ®ed &
faw Rl & orpfe & & fog

(3) ey WaER & adeE ® @m0
% fau

(4) FAFER e F o F oorgwfa ¥ F
fe

faemeed ST 1920 % Y& g |

(10 mﬁwaﬁ@m&m

(2) UEE e § ww R oweam 3 %
ferg

(3) §# F GIw F Ad W =EER ¥
g w0 & fou

(@ e W R W R R R
180° @ 3 180° uirem B & wed A
frfafag § 4 wi-w wd & 7

(1) I TR F fwba @

(2) T FEA E

(3) S TH-TW W 180° T B

(4) I F G A O we fer w @
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54.

65.
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The elevation of land is measured from the |62.

(31)

level of the sea because

(1) major part of the Earth is covered
under water

(2) the level of sea water keeps changing
with tides and ebbs

(3)  the level of sca water remains the game
everywhere

(4) it is a tradition started in Spain and
followed since then '

Dakshin Gangotri is

(1) origin of the river Kaveri in Southern
India

(2) meeting point of the Ganges with the
Bay of Bengal

(3) a research station established by India
in the Antarctica

{4) Origin of the river Ganges in the state
Uttarakhand

Stacks are formed by
(1) rivers

(2) sea waves

(3) snow

{4) wind -

The correct sequence of different spheres in
the atmosphere of the Earth if we move
away from the Earth is

{1) Stratosphere, Troposphere, Mesosphere
(2) Troposphere, Stratosphere, Mesosphere

(3) Stratosphere, Thermosphere,
Mesosphere

(4)' Exosphere, Mesosphere, Troposphere

53.

54.

55.

2
WHA # SO R oaw @ wd o R s

(1) gt F1 fewe o oo} frw gan @

(2) W8 WA H W EWR-IR ¥ Wy
ufafi g @ @

(3) ©F 9 ¥ WH U TR GHH EA 2

(4) T EE IR OYE H T OWER & R i
S TET B ow @

T T
(1) e qrd § FEG TG A g
(2) A H WS F WY T AT @E

(3) sicehfea ¥ 9Ra g wifE Wy &

(4) ITES TF ¥ 70 ) T8 F sgm
@g%mm’-}%r

(1) eEt g/

(2) wHEl A gw

(3) % g

(4) &I W

I PE W QAR F Dy F anpisw
i fafim dedl & H 8 .

(1) TAA9HS, dvHsd, FeEded

(2) ®vied, THaHEd, WewEw

(3) UAGHEW, W@ dgyed, meEHsd
4) dfgled, Temed, shwdea
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57.

58.

59.

60,

/er-

(32)

Which countiry possesses no known mineral
depositg 7

(1) Myanmar
(2} Poland

(3) Switzerland
(4) Denmark

The brand ‘Amul’ is a successful example of
{1) Butter Industry

(2)  Public-Sector Industry

(3)  Co-operative Sector Indusiry

(4) Private Sector Industry

‘Balancing the need to use resources and
also conserve them for the future is
development.

(1> Resourceful
{2) Supportable
(3)  Sustainable

4) Superficial

The most appropriate to prevent soil erosion
on steep slopes is

(1) Mulching
(2) Shelter Belts
(3) Terrace Cultivation

(4) Inter-cropping

The Population Pyramid indicates

(1} age, sex and composition of population
(2) population density

(3) pattern of population distribution

(4) ratio of birth and death rates

56.

57,

b8.

59.

60.

frg < & *¢ wa wite feye 7 & 7

‘srger’ Ay F A IEWT |
(1) TFET I4m

(2) WEWT® &F I

(3) WERd &% zEm

(4) faeit @ war

AT % IYAT N sEvaEa B g w3
ud Afas & fu e e W s
o @ |

(1) HEE3-Huy

(2) Hearh

(3) YUy

L)

{4) Hagl

di Bl W oyer WA F Va7 weifus
a3 @

(1) Hed 4

2) W fmend

(3) HidlRr = (afwr )
(4) &9 HEA I

(1) 3, forr 9a sMEEn & d@hed
(2) SHIE "

(3) THE a0 @ SEARAE e
(pattern)

(4) S W TG W F UM
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64.

65.

#
#

Law

R4

/er-

(33)

on a subject in the Concurrent List of

the Constitution can be passed by

(D
(2)
(3)

(4}

Central Government
State Government
as State

Both the Central as well

Governmenti

The Supreme Court

The Cauvery river dispute is between

(1)
(2)
(3)
(4)

‘The

Andhra Pradesh and Karnataka
Andhra Pradesh and Tamil Nadu
Kerala and Karnataka

Tamil Nadu and Karnataka

Cooked Midday Meal Programme’ was

introduced for the first time by

(1)
(2)
(3)
(4)

Uttar Pradesh
Odisha

Andhrz Pradesh
Tamil Nadu

Advertising promotes

(L
(2)
(3)
(4)

India
(D
(2)
(3)

(4)

Social equality
Social inequality
Social justice

Only the utility products

being a sccular state
intervenes in the religious matters
does not intervene in religious matters

maintains ‘principled distance’ as per
the Constitution

patronises all religions

61,

62,

63.

64.

65.

])

s A wwedl g fawm w s W)
et BT WIRA foE S ogwAT R

(1) #F N

(2) T J&ER

(3) &K 9 T FER E]

(4) I AATE

Frad A faae __ Fdg
(1) 3y W 3N Flew

(2) 3y TW R dfie g

(3) I 3 FAlee

(4) dfer g 3l Fele

% W W IR THERN g3 WeArs
ST FAFT Y fopar TR |

(1) IW W

(2) 3

(3) 37ty weyr

(4 dHT g

foqram _  FigEr i@ g
(1) "W A

(2) OHISTH STIH

(3y wHfs® =g

(4) HEd I9AfE IQR)

T R TS @ $ A
(1) uffF A eeEw A @
(2) uiff® g ¥ gwRy T8 st

(3)

(4)

" N T S —
w2
ol guf i geeor @ @
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66,

67.

68.

69.

70.

{34)

Which of the following is a ‘Public facility” ?
(1) Public health carc

(2) Public protest

(3) Public schooly

(4) Public Provident Fund

Drop-out rate of the girl students from
disadvantaged groups is higher due to

(1) Parents’ apathy to their study
(2} Early marriages

(3) Poor socio-economic status (SES) of
their families

(4) Absence of girls’ schools

Full version of the abbreviation EVM is
(1) Electronic Vision Model

(2) Extended Values Modules

(3) Electronic Voting Machine

{4) Election Vehicle Monitoring

‘Rule of the law' means
(1) rule out the possibility of law-breaking

(2)  rules and laws are indispensable for a
democratic society

(3)  rules and laws apply equally to all

{4) rules are the subsections of laws

On how many levels does the Panchayau Raj
system function ?

(1) One
(2) Two
(3) Three
(4) Four

64,

67,

68.

69.

70.

frefafen & 9 #t-d@t et g @
(1) W% ey @

2) w9 faly
(3) ulAw Hpa
(4) o wfasy frfy

aferer @t § Wby ashrdl @) e 93
W % R I R

(1) fqEel #1399 UgR & 3R IEria
(2) S faaw g

(3) I &Rl F e gETR-afiE R
(4) e foanerdl =i sofeufy

Hfefa BEVM 1 gof &9 2

(1) Electronic Vision Model
(2) Extended Values Modules
(3) Electronic Voting Machine

{4)  Election Vehicle Monitoring

FLA ® WHT F A §
(1 HEE AET W FwE T e

() WHGE AN F AU e s e
s §

(3) Wﬁﬁwmﬂmww@rm
(30|

4) fEm I % svam §

S TSt e e W W e e d
(1)
@)
(3)
(4)

4 % %4
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(35)

It is important to reinstate the gignificance

of the Social Sciences by

(1)  highlighting its incréasing relevance for
a job

(2) laying the foundations for an analytical

and creative mindset

(3)  highlighting the need of the knowledge

of social phenomenon

(4) emphasizing the values that are needed

for an orderly society

The curriculum of Social Sciences should
reflect

() interdependence of social phenomenon
with Sciences '

(2) domination of the national interests
over local perceptions

(3) the need of cultivating the civic sense
in the Indians

(4) integration of the perspectives of
women with the discussion of any
historical event

A teacher comes across the argument that
“Parliamentary form of democracy is not
suitable for India.” She/He should react by

{1} reprimanding students for voicing such
undemocratic ideas

(2) telling them not to make any value
loaded judgment in a haste

(3) telling them that there is no other
feasible alternative

(4> not dismissing or agreeing with it
rather redirecting it towards what the
Constitution intends

72,

73.

P

R ey S
# g wffed W wewgof §

() WM F fU ) g adwa
T A

2) fovewores sk gomE oem 8 A
ECEl

(3) WHINTE WHEAT & T & SR F)
IR F

(4) UF Ed wAE & fu smavas e
W A

Rt fat # mgEeat # T
97 FE 9IfRY |

(1) foel & 9@ gmies SgEest oW

(2) Wwwu@aﬁa%wa

(3) Wﬁwﬁm-maﬁﬁ#ﬂﬁm
I STETARAT

@ fedt @t tfoefes wewr & = ¥
e & ofdedi & wFwn w0

U s % w98 ak o @ Cdedy

I HULT T 9N & A 3fa Ad d )0 oR

| yaR wfafear < =few 2

(1) 38 @ & INAwdBs =R & 30
T fEfE @ qes

(2) 3% 9O 5 33 S 3 R sh gy
Wi Fofg 3 &t

(3) 3% TN fF @ o ogEERE ey
T 2 '

4 WU W AT A @R w sk T @
Teud § dfcw dfEawe # owem 9 mg
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5.

76.

77.

/er-

(36)

A Political Science text-book refers to the

inequality existing in the USA undcr the

topic ‘Equality’ to

(1) show that it is a global phenomenon

{2) show that even the USA cannot control
it

(3) prove that the USA is not a model
democracy

(4) prove that India is the most democratic
nation of the world

Historians and archaeologists are sometimes

compared with detectives because

(1) they write about the secret missions
that took place in the past

(2) they serve as secret agents for tracing
treasures of the past

(3) they take eclues from various sources
while investigating about the past

{4) they disguise themselves as detectives

While teaching ‘Inequality’ which of the

following would be the best suited approach ?

(1) Discuss as it is given in the text-book

(2) Highlight the inequality faced by the
people

(3) Talk on topies like female foeticide and
dowry system etc.

{4) Highlight the constitutional provisions
to bring about equality

While teaching History

(1) all important  dates  should be
remembered with the  Thelp of
mnemonics

(2} rise and fall of dynasties should be
marked clearly

(3) processes leading to events should be
analyzed in the light of reasons and
child’s own experience

(4) a distinction should be there in polmcal
and socio-cultural events

74,

75.

76.

7.

T e # N qEEE A TR %

sta dg vsw ofE § faemm srmme &

R H el o wadt 2 7

(1 W WElE w5 g s e
magaw%

(2) 9% VW & fF Wye aew e off
W frafa @ Fowe

3) T fag = & ¢ TG SEfE
Ay dmaT T e

() =@ fog & & 9% favg &1 wW@d
A TY 8

Ff-wft shrrewRl oR quaERE @ ge

S | # e @ i

() o ordfta & Tude st % e W
ferad &

(2) & I & e e ® @ gy
W % w7 OF w6 e ¥

(3) 9 3 & W’ H SAF-gEard w &
oA fafas &l @ dad an #

4y 9 @ w TgF F TR D¢ w9 H
TeiH W

AT TR wHa fAefafad # ¥ s
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Which of the following would be better |78,

suited to enable children to express their
views on public issues ?

(1) Secrapbook

(2) Chart

(3)  Wall magazine
(4) Flash Card

History text-books have a box ‘Elsewhere’ at |79.

the end of each chapter
(1) to attract the attention of students

(2) to make the chapter interesting to
students

(3) to increase the general knowledge of
students

(4) to relate contemporary developments
around the world with each other

In History text-books many sources have
been given in each chapter

(1) to prove the creative talent of the
authors

(2) to prove that more than one source are
always better

(3) to justify the selection of topic

(4) to encourage students te work on
sources and derive interpretation

British period official records ecannot help in

writing objective History because

(1) events in these records are not
mentioned in chronological order

(2) they contain only superficial
information

(3) the British recorded their subjective
view and ignored the feelings of the
people

(4) they were meant only for producing a
rosy picture of the British rule
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Cumulative record of the evalualion in Social
Science should

(1) have attendance and medical records of
the students

(2) have a record of incidences of
indiscipline shown by students

(3) have a record of progressive
development of students’ interests,

aptitude and social adjustments

{4) have a record of students’ behaviour on
any specific day

Which one of the following is against the
spirit of pedagogy of Social Science ?

(1) Making connections to students’ lives

{2) Aligning
outcomes

experiences to important

(3) Making students appear in as many
tests as possible

(4} Designing cxperiences that interest
students

In Class VIII a {eacher starts the chapter
‘Local Self-Government’ by asking students
the names and responsibilities of Pradhan
and Sarpanch of their village and then
explains the importance of Panchayati Raj
System. Which of the teaching maxims is the
teacher following ?

(1} Proceed from abstract to concrete
{2) Proceed from simple to complex
(3) Proceed from indefinite to definite

(4) Proceed from empirical to rational

82,

83.

84.
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Introduction of Comprehenjsive and
Continuous Evaluation has made  the
evaluation system

(1) more reflective of the entire personality
~of a child

(2) complex by incorporating too many
details

(3) vague as exact rank of the student
cannot be found out

(4) more comprehensive tg analyse the

performance only in the scholastic
areas

To teach ‘Multipurpose River-Valley Projects’
which of the following would be best suited ?

(1) Discuss the harmful effects of dams on
ecology

(2) Take students on a field trip
(3} Give students project on the topic

(4) Deliver a well prepared lecture

While preparing a lesson plan on the topic
‘Resources’ what will be your first step ?

{1) Select teaching aids
(2) Frame objectives
(3) Go through the topic many times

(4)  Prepare introductory questions

B5.

87.
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Remedial teaching cannot be done for |88,
students.
(1)  dyslexic
(2) gifted
{3)  showing lower than average
performance
(4) showing above average performance
89.

/el

‘Micro teaching’ is

(1

{2)

(3)

@

Learning processes

teaching by observing minute behaviour
of students

organized practice teaching

micro managing the routine of students
in the school

teaching students in small groups

in a Social Science

classroom should ask students to

(1)

(2)

(3

(4)

study text-books thoroughly and mark
important lines

make notes on the discussions held in
the class

attempt all the questions given in the
exercise

reflect on the learning and on the
responses it requires of them

90.
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Candidates should answer questions
tfrom the following Part only if they
have opted for ENGLISH as

LANGUAGE - 1.
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PART IV
LANGUAGE 1
ENGLISH
Directions : Read the poem given below and answer |98,  Superman came and
the questions that follow (Q. No. 91 to 97} by
selecting the most appropriate option. (1) helped the mother
(2) did not help
T'was the night before Christmas, be child’s di
And all through the kitchen, (3) ate up the child’s dinner
My mother was cooking some delicious chicken, (4) burnt the house
All of the sudden,
The light bulb broke, 94. The word ‘instant’ can replace which of these
And my mother randomly started to choke. words from the poem ?
In a flash, Superman came. (1) sudden
ther th his ¢ .
My b.ro ert ?ught : is costume was lame (2)  randomly
And instead of rescuing the day,
He ate up my dinner, (3) ftlew away
And he flew away ! (4) in a flash
Santa burnt the house with dynamite and {lares,
I guess 1 was on the naughty list, next year, 95. Santa refers to
I care !
{1) Santa Claus
91. To introduce the above poem the teacher (2)  the servant
should (3} a crook
(1) read the poem aloud (4) a poor man
(2) discuss about Christmas and Santa |96, The speaker feels that Santa burnt the
Claus house because
{3) tell about Superman (1)  he did not get any dinner
(4) tell about Santa (2) the child had been naughty
(3) Superman went away without meeting
. him
92, zile night before Christmas is also spoken of (4) that is his job
(1) Christmas eve 97. Both Superman and Santa were doing
{1) what they always did
2 hri i
(2) Christmas night (2} things against their basic nature
(3) night before Christmas (3) all this to have fun
(4) night of Christ (4) these things because the boy had

troubled them
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Directions : Read the passage given below and |98.  Hei ghts of Abraham arc
answer the questions that follow (®. No. 98 - 105) by
selecting the most appropriate opiion,

(43) r

{1) an outstanding natural feature of
Quebec

Heights of Abra}?am are cliffs. These (2)  cliffs scaled by Abraham

are one of the outstanding natural features of

the city of Quebec in Canada and were the

scene of a famous battle. Major General James (4)  not near St. Lawrence river

Wolfe (1727 — 59) wasg only thirty-two years old

when commanded by the RBritish Prime

(3)  known for their French occupants

minister, William Pit, to capture Quebec from 99. Capturing Quebet would

the French during the seven year war (1756 — (1) be casy
63). The capture of the city lying on the banks (2) open the way for overthrowing the
of the St. Lawrence river in Eastern Canada, French forces

would open the way for the overthrow of the
 French forces in North America, For three
months in the summer of 1759, Wolfe (4)  not be required
attempted to overcome the French by frontal

(3) be difficult

attack from across the river, but the defenders 100. ‘Frontal attack means
held an almost impregnable position. Wolfe
decided to make an attack from the rear in the
early, dark hours of September 13. He held his (2)  attacking the enemy from the front

army across the river above the town and

(1) being attacked from the front

) . . (3)  attacking the frontline
surprised the French soldiers guarding the

small cove which now bears his name. Then
came the highly dangerous task of scaling the

cliffs — the Heights of Abraham, By sunrise 101. Which part of speech is the word ‘frontal’ ?
Wolfe and his army of 4000 had achieved their

{(4) attacking the frontier

goal and were on the Plains of Abraham drawn (1) Verb

up in battle array and ready to fight. (2)  Adverb
Before Wolfe’s audacious plan had been (3)  Adjective

carried to ils successful conclusion, both Wolfe (4)  Preposition

and the great French'Commander, Montcalm,
lay dying in the battlefield, Knowing that
success was his, Wolfe whispered, 1 die
contented.” On the other hand, when told that
he was fatally wounded, Montealm cried out, (1)  vulnerable
‘Thank God ! 1 shall not live to see the
surrender of Quebec.’ '

102. The oppesite of the word ‘impregnable’ would
be ‘

{2} undefeatable

(3} strong

(4) weak
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104,

105.
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The word {rum the text that means ‘reckless
and daring’ is

(1) frontal
{2) successful
(3) audacious

(4) contented

Wolfe decided to attack from the rear
because

(1) Montcalm was not there
(2) the front was impregnable
(3) it was casy

(4) the cliffs were easy to climb

Spirit of patrietism was exhibited by
(1) William Pit

(2) Major General Wolfe

(3} French commander Montcalm

(4) Both Major General Wolfe and French
commander Montcalm

Directions : Answer the following gquestions by
selecting the most appropriate option.

106,

107,

Which of these is of primary importance for
creative writing ?

{1) Correct spellings of words

(2) Legible handwriting

(3) Presentation of ideas in an original way

{4) Command over
punctuation

grammar and

Conventions of writing include
(1) story ideas

(2) proper punctuation

(83) imagination

(4) good vocabulary

108,

109.

110.

111,

112,

A teacher should help the learners acquire
rich imagination and ability to think out of
the box to develop the learners’ skill of

(1) telling stories

(2) generating new ideas
(3) speaking well

(4) critical thinking

While asking the learners to read tho text
silently the teacher should

(1) set a time limit
(2) correct their written task

(3) ask them to consult a dictionary for
understanding difficult words

(4) ask the learners to write the summary

Lexical cohesion devices are

(1) words/phrases used for connecting ideas

Q) vocabulary

(3) structures
{4) punctuation

According to NCF-2005 a teacher should

(1) help in
imagination

enriching the learner’s

(2) develop a learner’s self-worth

(3) expose the learner to at least two
languages

(4) concentrate on making learners learn
the text thoroughly

When a teacher wuses ‘Realia’ to teach

+ yocabulary and grammar she

(1) is using role play as a learning device

(2} 18 using real obje(;ts, actions and actual
life situations ’

(3} is using computer technology

(4} is teaching through true stories
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A multi-dimensional curriculum is once which

(1) caters to teaching of many subjects

(2) ensures an all-round development of
the learner

(8} spreads in various dimensions

(4) covers comprehensive conlent areas

To create and sustain interest in learning

{1} learners should not be labelled as slow,
average or high achievers

(2) learners should be told stories

(3) involve the students in activities

(4) make them teach each other

Which of the following descriptors can be
used for assessing the learners’ writing
skill ?

(1) Their reading ability

(2) Their pronunciation and spelling
{3) Organization of ideas
(4} Handwriting

When a teacher asks the learners to judge
the actions of a character in a story they
have just read she expects them to

(1) understand facts as stated in the text
(2) evaluate

(3) read in between the lines

(4) go beyond the text

117,

118,

119.

120,

p

As a facilitator of learning the tleacher
should

(1) aim at finishing the syllabus in time

load the learners with exira
information about the theme of the text

(2)

(3)

explain each lesson in detail
(4)  provide cnough opportunities to X pose
the learners lo hear and wuse tihe
language

During dramatization when a teacher uses
‘empathy’ as one of the descriptors for
assessing the learners, she is assessing their
ability to

(1) sympathize with the character
(2)  get into the skin of the character
appreciate the character

(3)

critically analyse the character

(4)

A good summative assessment should have
which of the following qualities ?

(1) Be reliable and without bias

(2)  Test mainly structures

{3} Have very few grammar questions
(4) Test the full year’s syllabus

Poetry recitation helps learners to

(1) learn proper intonation and stress
(2)  understand same sound words

{3) learn rhythm

{4) learn rhymes
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PART V

LANGUAGE 1I
ENGLISH
Directions : Read the passage given below and

answer the questions that follow (Q. No. 121 to 127)
by selecting the most appropriate option.

Africa was once filled with an abundance
of wild animalg, But that is changing fast. One
of these animals, the black rhinoceros, lives on
the plains of Africa. It has very poor eyesight
and a very bad temper ! Even though the black
rhino is powerful, and can be dangerous, its
strength can’t always help it to escape
hunters. Some people think that the rhino’s
horn has magical powers, and many hunters
kill rhinos for their valuable horns, This has
caused the black rhino to be placed on the

endangered species list,

The elephant seems to represent all that
is strong and wild in Africa. It once had no
natural enemies, but iz now endangered —
killed for its ivory tusks. Wherever people are
careless about the land, there are endangered
species,

Grizzly bears like to wander great
distances. Each bear needs upto 1,500 square
miles of territory to call its homeland. Today,
because forests have been cleared to make
room for people, the grizzly’s habitat is
shrinking and the grizzly is disappearing. It
other endangered North American
such as the red wolf and the

joins
animals,
American crocodile,

In South America; destruction of the rain
forests threatens many animals. Unusual
mammals, such as the howler monkey and the
three-toed sloth, are' endangered. Beautiful
birds like the great green macaw and the
golden parakeet are also becoming extinct.

They're losing their homes in the rain forest,

121.

122,

. abundance,

and thousands die when they are caught
and shipped off to be sold ns exotic pets.

The giani panda of Asin is a fascinating
and unique animal. Yet there are only about
1,000 still living in the wild. The giant panda’s
diet consists mainly of the bamboo plant, so
when the bamboo forests die, so docs the
panda. China is now making an effort to
protect these special creatures from becoming
extinct. Unfortunately, it is peoplo who cause
many of the problems that animuls face. We
alter and pollute their habitats, Wo hunt them
for skins, tusks, furs; and horny, Wo destroy
animals that get in the way of furming or
building. And we remove them f{rom their
natural habitats and take therm huome as pets.

(extract from Gone Forever by Barbara
Reeves, internet)

To introduce this passage, which of these
activities would be suitable as a starter for
the above passage ?

(1) Showing a small audio-visual clip on
rhinos, elephants, and il' possible,
pandas

(2) Showing of an audio-visual clip followed
by a discussion

(3) Showing pictures of the animals they
are going to read about

(4) Telling the students about the animals
they are going to read about

The first paragraph has words lLke

magical, dangerpus, valuable,

therefore a teacher could aim to teach

(1) adjectives

(2) mnouns

(3) conversion of nouns into adjectives

(4) spellings
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a complex sentence ?

(1
@)

3

(4)

From the questions given here dentify a
global comprehension question based on the
above passage,

(1} How does the rhino escape from
hunters, in spite of the fact that it has

. a very poor eyesight ?

(2) Why is the grizzly’s habitat shrinking ?

(3) Why have certain species of animalg
become endangered ?

(4)  Which couniry is working towards
protecting pandas ?

Which of these questions is nof a valid

question ?

(1)  Write a short note on the wild life of
Africa and Asia.

(2)  For what are the rhinos hunted ?

{3) In South America the wild animals are
threatened by . )

{4) What has been the biggest cauge for

A suitable title for the Passage is

(L
(2}
(3)
(4)

Africa was once filled within abundance
of wild animals,

Some people think that a rhino’s horns
have magical powers.

Beautiful birds like the great green
macaw and the golden parakeet are
also becoming extinct.

And we remove them from their
natural habitats and take them home
as pets,

certain animalg becoming endangered ?

Endangered Sp_écies of The World
The Price of Progress

Man Vs. Animals

Wild Life’s Biggest Enemy — Man

Directions -
answer the
by selecting the most appropriate option.

})
Which  of these aclivitieck  would b
meaningfully extrapolative ?
(1) Yuan, the Panda meets Furry, a grivzly

bear from North America. They star,
discussing about the problems faced by
their families and Iriends. What do you
think they tell cach other ? Write a
dialogue between the two animals.

(2) Do a Project on the endangered species

of India.

Write a letter {o your friend telling

(3)

him/her about how we humans are
responsible for the dying out of wild
animals,

Write a poster on the theme ‘Save our
wildlife’, .

(4)

Read the passage given below and
questions that follow (Q. No. 128 — 1.35)

Once upon a time, there lived a sparrow
In a trec. He wasg very happy to have ga
beautiful and comfortable nest of his own in
the tree. The sparrow used to fly to far off
places to pick at grains from so many fields,
full of crops. At the sunset he would return 1
his perch,

One day, the sparrow ate his fill, but
could not return to his nest, because of the
heavy rains which continued for the whole
night. The sparrow had to spend the whole
night in a big banyan tree, a little distance
away from home.

The next morning, when the rain stopped
and the sky became clear, the sparrow
returned to his tree. He wag astonished to
find a rabbit occupying his beautiful and
comfortable nest.

The sparrow lost hig temper and spoke to
the rabbit, “It’s my home you're sitting in.
Please quit this place at onee.”

“Don’t talk like tools,” replied the rabbit,
“Trees, rivers and lakes don’t belong to
anyone. Places like these are yours only so
long as you are living in. ¥ someone else
occupies it in your absence, it belongs to the
Neéw occupant. So go away and don’t disturh
me any more.”
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Bul the sparrow was not satisfied with
this illogical reply. He said, “Let’s ask a
person of wisdem and only then our cuse will
be settled.”

At a distance from the tree, there lived a
wild cat. The cat, somehow, overheard the
discussion that took place between the
sparrow and the rabbit.

The cat immediately thought of a plan,
took a holy dip in the river, and then sat like a
priest and began chanting God’s name in a
loud tone. When the rabbit and the sparrow
heard the cat chanting God’s name, they
approached him with a hope to get impartial
justice and requested him to pass a judgement
in the matter.

The cat became very happy to have both
of them n front of him. He pretended to listen
to their arguments. But as soon as the right
opportunity came, the cat pounced upon both
of them and killed and ate them together with
great relish,

{(from Panchtantra)

Presuming that this passage is given in one
of the middle school texts, what would be the
best way to introduce it to the learners ?

(1) Tell them that stories are of different
kinds and this one belongs to a genre

called ‘fables’

Ask the students about  their

observation of cats

(2)

(3) Ask the students to tell any story they

have heard or read about cats

(4) Ask the students to narrate a story

about cats and then tell them about
‘fables’

The above story can be used for teaching
(1)
(2)
(3)
(4)

grammar
about the sparrows, rabbits and cats
how the animals live in the forest

life skills and values

130.

131.

132.

133.

The best way to teach this slory would be to

(1) make the studonts read it aloud

(2) ask the students to read it silently
while you write some questions on the
board

(3) have the students dramatize it

(4) have the teacher read it and explain it

To make the learners use their skill to
evaluate, they should be asked to

(1) make a presentation on what they have
read

(2) analyse the: actions of the sparrow und
the rabbit

(3} have a group discussion to analyso the
character of the cat

(4) have a group discussion on ‘Quarrels do

not solve problems, they only aggravate
them’

The story can be divided into

(1) two parts — 1 - the fight; 2 — the

judgement

(2) three parts — 1 - the beginning of the
problem; 2 — confrontation; 8 — end of

the problem

(3) four parts — 1 — the sparrow hunting
for food; 2 — the rain; 3 - the rabbit;

4 - the cat

(4) no parts at all

This story

(1) uses animals to tell us about how
human beings behave

(2) 1is about sparrows and rabbits

(3) tells us about life in the forest

(4) tells us that cats are not friendly
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1384. The sparrow thinks the rabbit’s reply Lo be

135.

Directions ;

illogical because
(1)

(2)

(3}  the rabbit had no right {0 enter her
nest

she made the nest therefore it wasg hers

the rabbit wag foolish

(4) -basically all rabbits are illogical

This story should
(1) be read at home and discussed in clasg

(2} be used for motivating the students to

read more tales from Panchtantra

{3) enable the teacher'to relax while the
learners enjoy reading i
(4)  not be taught

Answer the following questions by

selecting the most appropriate option.

136.

87.

(4)

Which of these would be a valid ‘Learning
Objective’ for teaching a drama 9

(1) The learners will be able to speak

fluently with correct  stress and
intonation
(2) The learners will be able to act

effectively

The learners will be able to understand
what is drama

(3)

The learners will have an opportunity
to dress up in different costumes

To identify and measure the learnery’
potential for his/her specific abilities and
skills such as musie, science, medicine, ete,
the schools

(1)
2

conduct proficiency test
conduet aptitude tests

keep record of various activities the

{3)
learner was involved in
(4) seek opinion of various teachers

teaching the learner

]')

138. Onc of the main objectives of Continuous

139.

140,

141.

and Comprehensive Evaluation is

(1) to conduct more and more tests in one

academic year

(2)  to test every aspett of the learnors’
development

(3)  de-cmphasize memaorization

(4)  to make sure the learners do not forget

what they have learnt

Language evaluation must aim at

(1) assessing the achievement of {he
learner in terms of grades

(2) assessing  the learner’s language
proficiency

{3)  assessing the learner’s knowledge of the
rules of language

(4)  assessing the learner’s ability to learn a
new language

When language concepts are taught using

real life situations they are

(1} easily understood and used

(2} not learnt well

{3) being taught naturally and so enable
the learners to usge them easily

{4) being taught in the same way as the
learner’s mother tongue

For story-mapping of a narrative text the

learners can be asked to

(1) story

answer a question which has the
in jumbled order

make a flow-chart depicting  the
sequence of the story

{2)

{3) draw pictures of every sequence

4)

draw a map of the locations mentioned
in the story
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The curriculum and the teacher's execulion
of it should help

(1) the learners to become thorough with
the curriculum

{2) enhance the learner’s self esteem
(3) the learners to get good grades

(4) the learners to
communicators

become  good

The skill of introducing the lesson
(1} depends on the ability of the teacher

{2) can be used only if the students are
receptive '

(3) makes the teaching — learning
environment congenial, creating
curiosity and motivating the students

(4) makes the lesson interesting

According to NCF-2005 ‘across  the
curriculum approach’ for teaching English
means

{1) wusing English as a medium of

instruction for all subjects

(2) breaking down barriers between

English and other subjects

(3) having -a separate curriculum for
English which goes beyond the other
subjects

(4} treating English as one of the subjects
in the curriculum

Language evaluation should

(1) measure the learner's ‘language
proficiency’
(2) not be tied to achievement in a

particular syllabi
(3) use only written tests

(4) be to identify the learner’s proficiency
to translate from his mother tongue
into English

148,

147.

148.

145,

150.

Acquisition of vocabulary is
(1) ¢ramming more words
(2) learning big words

{8) learning words in totality and yielding
the power to use them effuectivaly

(4) learning word families

For enabling her students to gain mastery
over English the teacher should

(1) regularly expose the learners to a

variety of language inputs

(2) constantly check the learners for all the
errors they make

(3) emphagize learning of grammar

{4) stop use of their vernacular

‘Curriculum should enable the learners to
think critically.’ This involves

(1) ability to learn information
(2} ability to find fault

(3) ability to carefully analyse and evaluate
information

(4) ability te think freely

Select the skill that is a component of
gpeaking gkills

(1) Skill of speaking formally
(2) Reading fluently

(3) Production of correct English vowel and
consonant sounds

(4) Ability to listen carefully

Which -of the following is not taught as part
of vocabulary ?

{1) Homonyms
{2) Proverbs
{(3) Prefixes

{4) Colloeations
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121.
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123.

124,

125.

126.

127,
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10.

11,

12.

READ CAREFULLY THE FOLLOWING INSTRUCTIONS ;

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on
Side-2 of the OMR Anawer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do nol wrile your Roll No,
anywhere else except in the specified space in the
Answer Sheet,

Handle the Test Booklet and Answer Sheet with
care, as under no circumsiances (cxcept for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will
be provided.

The candidates will write Lthe correct Test Booklel
Code and Number as given in the Test Booklet/
Answer Sheel in the Attendance Sheet.

Candidates are not allowed Lo carry any textual
material, printed or written, bits of papers, pager,
mobile phene, electronic device or any other
material except the Admit Card inside the
examination hall/room. _

Each candidate must show on demand his/her
Admission Card 1o the Invigilator.

No candidate, witheul, special permission of the
Superintendent or Invigilator, should leave his/
her seat.

The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has nol
signed the Aftendance Sheet a second time will be
deemed not to have handed over the Answer Sheel
and dealt with as an unfair means case,

Use of Electronic/Manual Calculator is
prohibited, ‘ ‘

The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Hules and
Regulations of the Board.

No part of the Test Booklet and Answer. Sheet
shall be detached under any circumstances,

On complet'ion of the test, the candidate
‘must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidales are allowed to take away this Test
Bocklet with them.

[#p3

6.

10.

i1

12,
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A o ey § fasm &t ffd # Pga) gud Qe
ofeeht Sqery HEl FOE sy | ,

T & el we ads | aifed-r d A
vl g Tien gq/®d § waw FE & faag
Wb & UigE 9nEl, qfEd @ edfdfEa, s &
ufergl, e, d9Ed WH, TOei[E I9E T fEE
3 W F TIi F A T A I FA R A
R :

B R W IoE viadl, fias & oo R
fewmd

A T A DL |

Frita s & oo W 9 KU fa @ afi-u
o G gEER fRy e el wien gfa W erh |
aft el ol 3 gEl WR Bhd-T W ogwmeR @
for o Tg A STEm B W I T A8 et @ ek
Tg IO W HT HEE JEAT S |

|
yia-gie o s & fou gdendl 9 & ot fendi v
fafrerdl g Frofim § | aafm Al & Ao @
St s & famit u gt & sTgER B

fopeft grete 1 wiem gferer o IR W F HE T A
Tl .

qiter gww g9 4, gdgrdf we / g ot ¥
= o wg-Figs = sayy g € | atiaref s
Q1Y 3W diem YfEsT &t & W e § 4 {
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PART I/ HRT 1
CHILD DEVELOPMENT AND PEDAGOGY / €11 ﬁfﬁrﬁ d %w
Directions : Answer the following questions by ,ﬁéﬁw : g gval & 3w e & f&e waet afem

selecting the most appropriate option.

Human development is divided inlo domains

such as :

(1) psychological, cognitive, emotional and
physical

(2} physical, spiritual, cognitive and social

(3) physical, cognitive, emotional and social

(4) emotional, cognitive, spiritual and
social-psychological

Which of the following is a principle of

developmeny ?

(1) Tt is a discontinuous process

(2) All processes of development are not
inter-connected

(3) It does not proceed at the same pace for
all

(4) Development is always linear

Individual attention is important in the

teaching — learning process because

{1) it offers belter opportunities to teachers
to discipline each learner

(2} children develop at different rates and
learn differently

{3} learners always learn better in groups
(4)  teacher training programmes prescribe it

Human personality is the result of

(1) only environment

(2) only heredity

(3) upbringing and education

(4) interaction beiween heredily and
environment,

In the context of education, socialization

means

social

{1) adapting and adjusting to

environment
(2) always following social norms
(3) creating one’s own social norms

(4) respecting elders in society

—
.

faweq gfaw o

e fosie &1 88l 7 faafa e s @ ) 8

(1) TAdTas, g9, gamens aih

(2) VR, sremfars, 3 st gt
(3)  wilifs, deTes, Hamons otk R

(4) UIMAS, OEATEE, el ik
T STeR- BT

fr=fafad § 9 $i-ur fawm =1 fuagq & 2

(1) u® fR@ <9cr an 9hwar 48 &

(2) fawm &1 oft sheand sfmomfag 98 §

(3) Wi F fawE-g T 98w @

@) f5w e W dar g

oo — sifery wfiea  wfeg w9 @ e A

(1) 388 9% formdt F1 srgenfoa =y &
fau fomrl 1 dgeR araer fimy &

(2) F=a & TN e fim gl @ st 3 i

T ¥ A w ey §

3y fommedl BT wyEl § @ sew daw

(4) mﬁmmﬁﬁmﬁm
T

HAd-safdhe giomy 3

(1) - hael e &

(2) HA SAFEEA H

(3)  WEE-gmer s frr

(4) STEfRAr S amrawT £t sfadEm
fyrnr & dedf ¥, Fusleor & Tt 3

(1) wESs awerEr § sgged s gem
(2) WIS AFSE! 1 9F SIET S
(3) Y WA HES S

(4) 99N H g # FHE &
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Young learners should be encouraged to
imteract with peers in the classroom so thatl

\\

{3)

(1} they learn social skills in the course of
study

(2)  the teacher can control the classroom
betler

(3) they can learn answers to questions
from each other

(4) the syllabus can be covered quickly

According to Piaget’s stages of Cognitive
Development, the sensori-motor stage is
associated with

(1} ability to interpret and analysc options
(2) concerns about social issues

(3} imitation, memory and mental
representation

(4) ability to solve problems in logical
fashion

According to Kohlberg, a teacher can instill
moral values in children by

(1) 1involving them in discussions on moral
issues

(2) giving strict instructions on ‘how to
behave’

{3) giving importance to religious teachings

(4) laying clear rules of behaviour

Which of the following is a feature of
progressive education ? .

(1} Frequent tests and examinalions

(2) Flexible time-table and  seating
arrangement

(3) Instruction based solely on prescribed
text-books

(4) Emphasis on scoring good  marks in
examinations

A

wid fmenfidl & sep-wer § oawawE ¥ wy

(1) 3 989 ¥ <R gt sl Sra T

(2) Ty wem-we7 F Sgar 0% 9 fydfm
F T

(3) o um-gm ¥y & s A 95
(4) UIEESRA F Wgd Wewl gu A ST oWk

foart & daom faee % Sl F sEER,

sEE-TE  (HOE-RE) e fRweh wi

T 2

(1) fowedt & fodwa ok favomm w3
A

(2) |ENH TR 4 THR

(3) SHFWI, Wi 3R aHfEs freyer

(4) oEFF &9 9§ SHE-gHYE @ arad

FlgeE & R, ek a=ai # Afas ged W

ford @R HeRaT &

(0 e @ w oemafig =i ¥ 3% wifte
Fh

(2) ‘F0 sweRr & 9w wfE’ =@ T R
e 2w

(3) s forenm & e

(4) IR & WY fqaq 9

frafafas § @ FH-9 wfasia e &t
fergroar 2 ?

(1) AR-ER ol I8 gl e

(2) THE-YRUR R dad @ wEen §
[GEIRIEE]
(3) %ad WEEd TI-TEE WS

(4) Uitemal H 2 3 W & W oA
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11.

12.

13.

14.
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A {eacher makes use of a variely of tasks to
cater to the different learning styles of her
learners. She is influenced by

(1)  Vygotsky's socio-culturai -Lhunry
(2)  Piaget’s cognitive development theory
(3}  Kohlberg’s moral development theory

(4) Gardner’s multiple intelligence theory

Vygotsky emphasized the significance of the
role played by which of the following factors
in the learning of children ?

(1)  Physical

{2} Social
(3) Hereditary
(4) Moral

A school gives preference to girls while
preparing students for a State level solo-song
competition. This reflects

(1) Progressive thinking
{2) Gender bias

{3) Global trends

(4} Pragmatic approach

Learners display individual differences. So a
teacher should

(1) increase number of tests

(2) " insist on uniform pace of learning
learning

(3) provide a  variety of

experiences

(4) enforce strict discipline

School-based assessment is primarily based
on the principle that

(1)  schools are more efficient than external
bodies of examination

(2) assessment should be very economical

{3) teachers know their learners’ capabilities
better than external examiners

(4) students should at all costs get high
grades

10.

11.

12.

13.

14.

o mﬁm ﬁm aﬂéﬁﬁm
arfenmy- | g 1§ i
mﬁwa:r;mﬁnmgﬁggéla%ﬁa quqg
wfad 2

(1) IR F wEfaE-wegfe fegi
(2) foant & A fasm & fagi
(3) @@ & Afqw fem ¥ fogd

4 "R F Wwafg fGer

TR Tl F Hred F Prafartad 8 @ frg

FF F HgwEqel T W ower 39§ 2
(1 ¥R

(2) qmfe=
(3) ATEfR
(4) Afas

T TR F UF UEA-MEE s §F feaw
foaféel =1 dar s Wiy uw farem oohea
F aa@ W & | ¥e g @

(1) yfavier fae

(2) A qatmE

(3) dftas wgfat

(4) HASAIHS IUNTH

fererelt dafchen fmrar Wefdia =3 & 1 o/ Fomrss

&

(1) wlemsii # e we 3 R

(2) ST & wREIE T W 9 T GR

(3) #Ed & fafgw spEl A staw s
ey

(4) FBR IV ghfvaq a1 afew

fagrag-snaftd e 7= w9 ¥ faw fagm

W 3T g g 2

(1) fourer, awr wen fadl Foemen wmer

(2) e aga fEwEdr (frer) e e

(3) s qlEl @ e fimm et
fernfiadl & eprarsll & Seaw sy §

@) fedt o T w fofE R s i
faem =ifa
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Which of the following is an objective
question 7

(I) True or False

(2)  Essay type guestion

(3)  Short answer question

(4} Open ended question

Inclusive Education

(1} includes indoctrination of facts

(2) includes teachers {rom marginalized
groups

(3) celebrates diversity in the classroom

(4) encourages strict admission procedures

The emphasis from teaching lo learning can
be shifted by

(1) adopting frontal teaching
(2} focusing on cxamination resulls

(3) adopting child-centred pedagogy

(4) encouraging rote learning

When a child with a disability first comes to

school, the teacher should

(1) discuss with the child’s parents to
evolve collaborative plans

(2) conduet an admission test

(3) refer the child to a special school
according to the disability

{4) seclude him from other students

When a child “fails’, it means

(1) the system has failed

(2) the child is not fit for studies

{3) the child has
answers properly

(4) the child should have taken private
tuition '

not memorized the

The most effective method to teach the
concept of germination of seeds is

(1) to show pictures of seed growth

(2) to give detailed explanations

(3} to make the students plant seeds and
obszerve stages of germination

{(4) to draw pictures on the black-hoard and
give descriptions

h)

15.

16.

17.

18.

19.

20,

fafafaa ﬁ@ﬁ?-malﬁﬁqmé ?
{1y 9 @ 3

(2) frEgrems owq

(3) TIETRE H¥

(4) T I A I

A Ty

(1) agli & forn (qaron) @ gty @

(2) RN © Rgy = § fowisi 9 wfivfad
T W gEtyg #

(3) Fa1 ¥ fafagar =1 3o wamEt @

1) FfEe Tl SR wiwanel 51 seE o 2

foneror & atfrmr @ @ 3 @var oftadT & aEa
é .

(1) 3 Toreor &1 S 39T

(2)  ghen wford W oHEg aew

(3) WA-HEEd foer-ugft s

(43 wd & ‘ﬂ-fmu%ﬁ Fik

9 % e = vl 9 fauem s 8

a1 foers @ = wE TR 2

(1) wear dioq Gafed &3 & fow 5= &
Aa-fadr & @y =i s =

(2) TAY-Ulen o9 wifEn

(3) &= @ fEfEw & smEe 3@ favm
foarerm ¥ 99 & g9 A =few

(4) 3 3 fafEEt 4 sem @ kv

W e WA @ 2, O g aweed &

(1) = T gl @

(2) == Yol & fau A w2

(3) = A IR F T WF § aR W
2

(4) T F WgdT TFIE A wilRT o6

S AT W & o @ el yarE

LA

(1) @9 & gfg F fax fmm

(2) faega srEn 0

(3) TofE s @8 % diw 9 sl s
SF % TN B SFAARA AT

(4) ¥EE9E W a3 g9 s 9vlR s
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21,

22,

23.

24.

25.

26.

R

/el |

When a child gets bored while doing a task,
it is a sign that

(1) the child is not capable of learning
(2) the child needs to be disciplined

(3) the task may have become mechanically
repetitive

{4) the child is not intelligent

Which of the following is a domain of
learning ?

(1) Spiritual

(2) Professional

(3) Experiential

(4) Affective

Which of the following is the first step in the
scientific method of problem-solving 7

(1} Collection of relevant information
(2} Formation of hypothesis

(3) Verification of hypothesis

{4) Problem awareness

Errors of learners often indicate

(1} absence of learning

(2) soclo-economic status of the learners
{3) how they learn

{4) the need for mechanical drill

A child starts to cry when his grandmother
takes him from his mother’s lap. The child
cries due to

(1) Stranger anxiety
{2) Separation anxiety
(3} Social anxiety

(4) Emotional anxiety

A teacher uses a text and some pictures of
fruits and vegetables and holds a discussion
with her students. The students link the
details with their previous knowledge and
learn the concept of nutrition. This approach
is based on

(1) Operant condilioning of learning

{2) Construction of knowledge

(3) Classical conditioning of learning

(4) Theory of reinforcement

6)

21.

22.

23.

24,

25.

26.

s wedl % o gU FA4 ol 8, O 98 o
o ® gHd ¢ R

(1) = § dEe e A8 e

(2) W H SIfEE FA A e 8
(3) G9ad S TiHE T ¥ WA @/ 8
(4) e qfEAA AE €

freifafaa § o S9-91 de @ e g 7

(1) 3Tes

(2) SAEWIES

(3) sgHfas

(4) HaHE

frafafiag ¥ #H-9  S9E-EEME @l
dwifir Tl &1 ugen = § 2

(1) Y TS H THT FA
(2) WiEhewAT o fmieT FE

(3) WIEHIT HT JOEUT HTAl

(4) GEEN & ¥A SHOEHdl

Tohd F1 € |

(1) HEd @ e

@) foenfddi & gonfsie-omfds R
3) ¥ HY drEd @

(4) FifFd A & ATYIRAl
79 g5t F 99 I IWa W A Me ¥ A &,
& den W T 2 | aed & FROT
e 2 |

(1) e g

(2) fagm =

(3) WSS gfr=a

F AR
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28.

29,

30.

Jru (7)
Critical pedagogy firmly believes that 217.

(1)

the experiences and perceptions of
learners are important

(2) . the teacher should alwavs lead the
classroom instruction

(3) the learners need not  reason
independently

(4) what children learn out of school is
irrelevant

A teacher, after preparing a queslion paper,
checks whether the questions test specific
testing objectives. He 1s concerned primarily
about the question paper’s

(1) reliability
(2) validity
(3) conlent coverage

(4) typology of questions

Which of the following is a teacher-related
factor affecting learning ?

(1) Nature of the

experiences

content or learning

2)
3)
(4)

Mastery over the subject-matier
Proper seating arrangement

Availability of
resources

teaching — learning

A teacher never gives answers to questions
herself. She encourages her students to
suggest answers, have group discussions and
adopt collaborative learning. This approach
is based on the principle of

(1)

readiness to learn

{2) active participation

(3) proper organization of instructional
material

(4) setting a good example and being a

role-model

28,

29.

30,

A
fordramrens fmiRTe & 98 ¢ favaw & f®
(1) gﬁm & aqmd 3R oM eyl

g

T TEE W P e ¥ WRee
F AGH FAT AR

il #1 wda w7 9 aHon @ T
Rl

T WA ¥ A & dEd § W
IS

s
(3)
(4)
UF e W90 d9E F 9, 98 Sid Rl g

fop @ wyd vl & fafery wevdl &) whan o
® LW Og®E w ¥ T FF

% an § fafaq 2 |
(1) favagHmEa
(2) dea
(3) Hyl fawg-awq @ ofid @
4) ¥ F ¥FR

frefefas & § @-u fows § Tafg s
ST yuIfed HT alell FI%6 § 2

fawg-awq =1 afms-swEl & ggfd
fowg-aw] # e

(3) F4 i M sFEn

(4) fwqur - sifirm doraAl # SUeHAl

e forfeest 3raa-a ®@ Wl off Wi % I A
0 | T oo faafdE & W e & fau, 9
It AR wEAmeE s & fau

Siegfed i @ | G@ SUH &
fagia W g & |

dhg & AR
BIERAL HIEG)
FITE R & 3fad HieA

Fem ICEWT WE@ &AL 3R
AfRT-AfdET S

(1)
(2)

(1
(2)
(3)
(4)
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PART II / 9T II
MATHEMATICS / 0™

Directions : Ansuer the following questions by | ; fratas gvif & IR G & 0 wwd I
selecting the most appropriate option. o rars gf:/(,r /

\\

31.  If 567567567 iz divided by 567, the quotient 31. =fe 567567567 aﬁ BG7 @ faafsa far k| 'g

is al T §
1 3 (1) 3

2 111 @) 111

(3) 10101 (3) 10101
(4) 1001001 (4) 1001001

82.  In the product 3759 x 9573, the sum of tens’ (32, 3759 x 9573 ¥ THES #, e sik it 39

digit and units’ digit is 3% 7 qed &
@ 0 1) 0

2 7 (2 7

3 9 3) 9

(4) 16 (4) 18

33. 19 thousands + 19 hundreds + 19 ones is 33. 19 &N +191§|'$g +19W ¥

equal to ) ‘
(1) 191919 TR 2 |
(2) 21090 (1) 1919189
(3} 20919 (2) 21090
(4) 19919 (3) 20919
(4) 19919
34. What time is 4 hours 59 minutes before
2:58 PM. ? 34, 2;58121\1.@4@591?471?%@@@%?-
(1) 9:57 AM. (1) 9:57 AM.
(2) 9:59 AM. (2) 9:59 AM.
(3) 10:01 AM. (3) 10:01 AM.
4) 9:59 P.M. (4) 9:59 PM.

SPACE FOR ROUGH WORK / Y% o1 & o sie
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35.

36.

\\

{9)

The solid as shown in the figure is made up |35.

of cubical blocks ecach of side 1 em, The
number of blocks ig

"

i
e —
//

(1) 48

(2} 52

(3) 60

(4) 72

The figure consists of five squares of the same 26

size. The area of the figure is 180 square
centimetres. The perimeter (in em) of the
figure will be

—

(1) 36
(2) 45
(3) 48

(4) 72

A
U A, St fE argfa F femmn v 2 wdi
% (cubical blocks) ¥ ¥ 2 a9, WA
190 § ) s o He @

e e
/" /

(1) 48
(2) 52
(3) 60
4) 72
& T M Wi HeR F ufm et ¥ fieen

T 2 | A W SawE 180 @f T 3 |
STl # wfE (@ ) g

(1) 36
{2) 45

(3) 48

4y 72

SPACE FOR ROUGH WORK / 3% & & e smiE
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37,

38.

39.

40.

41,

R

/el

(10)
500 em + 50 m + 5 km = 317,
(1) 55 m
(2) 500 m
(3) 555 m
(4) 5055 m
In which of the following divisions, will the |38.

remainder be more than the remainder you
get when you divide 176 by 3 ?

(1) 1713 =+5
(2) 174 + 4
(3) 175+ 3
4y 176 + 2

The difference of 5671 and the number
obtained on reversing its digits is

(1) 3906

(2) 4906

{3y 3916

(4) 7436

Sum of place values of 6 in 63606 is
(1) 18

(2} 606086
(3) 6606
4) 6066
Study the following pattern :
1x1=1
11 % 11 = 121

111 = 111 = 12321

What is 11111 x 11111 7?7
(1} 1234321

(2) 123454321

(3) 12345421

(4) 123453421

39.

40.

41.

500 WA + 50 . + 5 Frft, =

(I 55 .

(2) 500 .

(3) 555 4.

(4) 5055 dI.

frafafaa & @ fog faoss 4 O 3wl sifis
B W MY 176 3 § i aRA R 7

(1) 173 =5

{2y 174 = 4
(3 175 + 3
4y 176 -+ 2

5671 3T IGF 3 H UFE I W Ww GO
R B
(1) 3906
(2) 4906
(3) 3916
(4) 7436
63606 § 6 & wWifig wHl &1 gmea @
(1) 18
(2) 60606
(3) 6606
(4) 6066
I feu e ded w1 s Sty
1x1=1
11 x 11 = 121
111 x 111 = 12321

11111 x 11111 FT & ?
(1) 1234321

(2) 123454321

(3) 12345421

(4) 123453421

SPACE FOR ROUGH WORK / 7% &1 & faie s7e
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A shop has 239 toys. Sevenly morce toys were
brought in. Then 152 of them: were sold. The
oumber of toys iefl was

\\

i1

(1) 239 — 70 - 152
(2) 239 + 70 + 152
(3) 939 — 70 + 152

(4) 239 + 70 - 152

How many 1 are in 1 7
8 2

(1 16
(2) 8
3y 4
4) 2

Which of the following is correct ?

(1) Buccessor of predecessor of 1000 is
1002

(2) Predecessor of successor of 1000 is 1000

(3) Predecessor of predecessor of 1000 is
999

(4} Successor of predecessor of 1000 is
1001

A pencil costs two and a hall rupees. Amit
buys one and a half dozen pencils and gives
a 100-rupee note io the shopkeeper. The
money he will get back is

1)

42,

43.

44,

45,

A

U g T 239 faetd § 1 oW sk fad @
T3 Y 152 fm T | W gy felH W)
e A4t

(1Y 239 - 70 - 152
(2) 239 + 70 + 152
(3) 239 — 70 + 152
(4) 239 + 70 — 152
Lamalyo
2 8

(1) 16

(2) 8

(3) 4

4) 2

frefofaa 9 4 s9-w &7 ¢ 2

1000 % ydadl # wEE 1002 7
1000 % WA e 1000
(3) 1000 % YAt & ydadl 999 &
(4) 1000 % YA 1 Wl 1001 &

(1)

(2)

U U #1 god @E w0 & | o 27 oo
el wiledt @ 3l gEMRR #1100 BT UE
Al T g+ 39 T sy Gy fire ?

(1) %55 (1) ¥55
(2) T 45 (2) T 45
3y 765 (3) Y65
(4) %30 4) <30

SPACE FOR ROUGH WORK / s w1 & far s
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Mas, Reena uses a grid aclivity 1o teach the
concept of multiplication of decimals. A
sample is illustrated below -

| ]

Jo.g

0-06

———

0-2
02 x 03 =008
Through this method, Ms. Reena is
(1) focusing more on procedural knowledge
and less on conceptual knowledge

(2)  focusing more on concepiual knowledge
and problem-solving and less on
procedural knowledge

{(3) using traditienal approach of learning

(4) focusing on developing problem-solving
skill

A suitable approach for explaining that a

remainder is always less than the divisor to

Class IV students can be

(1) grouping of objects in multiples of divisor
and showing that the number of objects,
not in the group, are less than the divisor

(2) perform lots of division sums on the

black-board and show that every time |

the remainder is less than the divisor

(3) explain verbally to the students, several
times

(4) represent division sums as mixed

fractions and explain that the numerator
of the fraction part is the remainder

46.

47,

006 03

——

02
02 x 0-3 = 0-06

T gl & R gt d

(1) ¥HFARIA 99 T =g 96 2 @ @ ek
YHCQAeHE A W FH

(2) HFECFCIE W AN GIRRTEME 9
SR A ¢ W R d9r TRV §H W

(3) W & W 3T W NaT WO P

(4) gnw‘mmaﬁw%mmmw%@

& IV & foafdei & 7 gag & forw fs 9

e fowrer @ ww @ 2, sfi sy 2

(1) oEgeil @ faums & ot § aagiga a
il yeffm o f5 wqgett & den, &)
wE § T, G 9 g §

(2)  TWUE G IS 3 a9t aga n gar
F 3 foar % 8 an 9 fawees
w2

(3) 3+ 9r fagf¥E i tifes ®v 4 wp
HET

(4) foae arel wam #1 it R &% ey 4
fTefid & 3R 98 Wy & & fim W
3w I §

SPACE FOR ROUGH WORK / 3% &1d & foe sme
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The objective of teaching number system to
Class III students is to enable the students

{1} to count upto 6 digits

(2) to see the numbers as groups of
hundreds, tens and ones and to
understand the significance of place
values

(3 to master the skill of addition and
subtraction of four-digil numbers

(4) to master the skill of reading large

numbers

Computational skills in Mathematics can be
enthanced by

(1) giving conceptual knowledge alone

(2)  describing algorithm only

(3) conducting hands-on activities in class
(4) clarifying concepts and procedures

followed by lots of practice

The concept of areas of plane figures can be
introduced to the students of Class V by

(1) calculating the area of figures with the
help of counting unit squares

(2)  measuring the arca of any figure with
the help of different objects like palm,
leaf, pencil, efc.

{3) calculating the area of a rectangle by

finding length and breadth of a
rectangle and using the formula for
area of a rectangle

for area of

(4) stating the formula

rectangle and square

48.

49,

A
Fel 11 & faufdEl & gen-vef gam om
ECeD i

6 3H qH AT HILA

(2) Hemeli #® dwer, cEEdl ok TEd ¥
W & ®9 H @ ok wHE AEi A
e 1 wHSEr

(3) SR 3% ol 9 % M 3K Sawad
& v waloer W &

(4) wof demsl # uga F wve § yEom

T T
Tford ¥ AT G wEedl BlvE & R g
FErE S Ghal © 7

(1) Fad TheQdicdd @9 F

(2) HAA UEHMEET (Algorithm) & 9019 &k

(3) & ° sEw gq fRania nfafafe =
MGie Hh

(4 Ghewmad ek wfwanl & wWE s %

e fas-g-3tfus 30 w0
w7 V& el # guae srfad & Anwe
H "HeqT ¥ frus g wRfed @ S gman
g7
(1) THFE F0 & A H HgeEd § gl
F TG & MO FHAT

(2) fafi aegetll SR g, W, foE, efe
& wgEar ¥ fadr O erafa F e
F HTGT

(3) 3G & oI R IR w yA a4

(4) Fa 3R @l & %A F g qAA
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The NCF (2005) considers thal Mathematics |51,

invoelves ‘a certain way of thinking and
reasoning’. The vision can be realized by

(L giv*ing lots of problem worksheets (o
studenis

(2)  giving special coaching to students

{(3) adopting exploratory approach, use of
manipulatives, connecting concepts Lo
real  life, involving studenls in
discussions

- (4} rewriting all text-books of Mathematics

While teaching the addition of fractions, it
that the

was  observed by Mr. Singh
following type of error is Very comrmon
2 2 4
- 4+ T =
3 5 10

Mr. Singh should take the following remedial
action :

(1) Explain the of LCM of
denominator

concept

{2)  Give more practice of same type of
problems

(3) Give pictorial representation to clear
the concept of addition of wunlike
fractions, followed by drill of same type
of problems

(4) Advise the students to work hard and
practise the problems of fraction
_addition

52,

T weFEE &OwW@ (2005) wEd @ fx
o e et wd oW uw wim o
B 8| I B ek s v fean s
ST A

A1) foufdE @t owga R owwe ae-w

{(workshcets) a:ﬂ

(2) el = i Aifm 3

(3) WEHH IURW w1 wEn FAT, AT
VAT S, HECESH % anefan
S WS, il w5 wwfsii
e &

(4y T & g TRA-THH  H R
FT

fietl 1 90T v waw, S faw T @R v
% frfafan s/ & 3 aga om 2

A e @ ffafes svoes sd s
Ele

(1) & & aga wvas (q.4.) § gEe
H WE H

(2) WAH YR & wawh W ofus gy
HAT :
() I fEll & A & deer 3 wE
FH & fw Ferens ey 2 @ A
U E Y F el ST sy e

4) [ # fgad w2 W "o I e
f=l & a0 9 waE w1 st s
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To assess the students’ competency on
solving of word problems based on addition
and subtraction. rubrics of assessment are

(1) incorrect, partially correct, completely

correct,
(2) comprehension of problem,
identification of operation 1o be
performed, representation of problem
mathematically, solution of problem
and presentation of problem

understanding of problem and writing
of correct sohation

(3)

(4) identification of problem, performing
correcl operation

While planning a lesson on the concept of
fraction addition, a teacher is using the
activity of strip folding :

M \x
\

The above activity is a

{1) pre-conient activity
(2} content activity

(3) post-content activity

(4) waslage of time

54.

A
M o Sasad Wi, e fan e
W # T WA F fEmEE ) odw W
A F F [0 THeR F yNE 8

(1) 7ad, v w9 ¥ W, i ad

(2) Tad W W, fenfea ® SR aed
dfwar FY Ug9H, 9= & iU v of
fream, wara F TEE e s

(3) HAE & AU AR GG A fA@an

(4) |ad & gaF, ud d@hrw fewfed s

fir=it &t AT Hehew & WIS W Gl 991 @9y,
femres T2l Are aTel Tidafafy s TE & @ R

A \\\\ \\
\\\

Iegw fafafy @ |

(n fowg-ag @ @ & e
farg-aeq @l fafafy
farg-aeg 9w fafafy
T F Farey

(2)
(3)
(4)
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‘Recognition of patterns and their completion’

s an essential part of Mathematics

curriculum at primary stage as it

(1} promoles creativity amongst students
and helps them to understand properties
of numbers and operations

(2)  develops creativity and artistic attributes
in students

(3) prepares students to take up compelitive
eéxaminalions

(4) helps the students in solving ‘Sudoku’
puzzles ‘

Use of Abacus in Class II does not help the

students to

(1) attain perfection in counting

(2) understand the significance of place
value

(3} read the numbers without error

(4}  write the numeral equivalent of numbers
given in words

Rizul is a kinesthetic learner. His teacher
Ms. Neha understood his style of learning.
Which of the following strategies should she
choose to clear his concept of multiplication ?
(1) Skip counting

I e e
0123454678

(2)  Counting the points of intersection on

criss-cross lines

2x1=2
(3} Forcing him to memorize all tables
(4) Use strings and beads of iwo different
colours to get the multiples of 2, 3, etc.

WW

(16)
B5.

56.

57.

Ve A v w ol 3w s i

¥R T W qeEt w1 ovw st fie

i

(1) Wﬁfaauéﬁee’{q&hﬁﬂ&m ?ﬁ é‘ﬁ]é
aﬁﬁwaﬁamﬁmaﬁﬁgg%aﬁaﬁ
g 8§ 399 HerE S

(2) ﬁaﬁ‘aﬁiﬁmaﬂzwgﬂﬁaﬁ
faafad st &

(3) ﬁuﬁ;ﬁﬁwﬁﬁmﬂaﬁ%ﬁmﬁm
aj_{"ﬂ]‘ .

@ G Rt B orT ay § frafd
TEAT HTT &

w11 T 3789 &7 g4 R

1 TR F§T Bl |

(1) Y SR ra S

(2)  TEE 9 5 wear @ g

3)  fan fodt 3 & demi 9 vl

(@) wedl 7 & Tt % que e faa

Rt s fewiadt kinesthetic) foremdf & | o

Forfereer ot a1 3w M- Y T 2 |

INE T ST B o T F faw =

frfefad § § g sgg-mm w1 999 a0

ifgw ?

(1)  =ear fime
T T T
61 2 23 4 58 7 8
@) Il Yael wosfrsT fagat &)
i

; 2x1=2

(3 g;ﬁqas‘faﬁmamﬁéaﬁmwmaﬁ

(4) 2,3, 30 & T TE =T % 9w o fay
1 =l At ot um @ yam Fe

ww
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To teach various units ol length to the
students of Class 111, a teacher shall take
the following materiale to the class

(1)  Relation chart of various units
(2)  Centimeler ruler and measuring tape

(3) Rulers of different lengths and different
units, measuring rod, measuring strip
used by architects

(4) Measuring tape with centimeter on one
side and meter on the other side

A teacher uses the following riddle in a class
while developing the concept of base 10 and
place value :

‘T am less than 8 tens and 4 ones.’
The objective of this activity is

(1) to inlroduce the concept of tens and
ones to the students

{2} to have some fun in the class and to
break monotony

(3) Lo reinforce the concept of base 10 and
place valuc

(4) to do summative assessment

Most appropriate strategy that can be used
to internalize the skill of addition of money
is

{1} Use of ICT

(2) Use of models

(3) Role play

{4) Solving lots of problems

b8.

59.

60.

A
TN N1 F faaidE & g H Al g
gl & fou foms frefafgd g @ § A
IS Lo [
(1) fafes gomal &1 -
(2) IR T TR R 9 a2y
(3) fafim camdi it edl a@ wor
(pET), A4 A B, AT AR 98 S
ARER EW YA A @ S @

(4) A9 Gl 2 foEe uE W ST @
3 gEd ovE We @

ue forrs ameR 10 @R T AW #) Seer

 faswrg = 997 w1 § frefafga gwdel w

SI"’ﬁ’T?ﬂT‘IT%

' g TRl S 4 AR H wH G N

=9 Aty = e 2

(1) farenfEell &1 emd o serd & dEeam @
g A

(2) FW B FT U KCH N TR H

(3) ER 10 3R AR 99 $ dFeqT &
T ST

(4) HIMicHh ATheld -l

HaH ITgH FR-TE, NEE W@ g0 §
AT F YA H TG H  fAw fwm
FAR, B

(1) Y& 3l @0 F@EAE (ICT) & ¥

AT

(2) wRrEd F1 o9 HE

3) fw-fate (T <)

(4) Fgd WX T § B
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PART III / 4T IHT
ENVIRONMENTAL STUDIES / qfazur sregaq

sclecting the most appropriate opiion.

61.

62,

63.

In which one of the following groups are the
words intimately related ?

(1) Mosquito, Dengue, Iron, Jaggery
(2)  Mosquito, Malaria, Anaemia, Tron
(3) Iron, Malaria, Anaemia, Blood

(4) Tron, Haemoglobin, Anaemia, Amla

Arti noticed the following precautions related
to prevention of spread of a discase on a
poster:

4. Do not let water collect around you

b.  Keep water pots,
clean

coolers and tanks

c.  Spray oil if water has collected at some
place

d.  Use nets to protect yourself

The poster is aimed at creating awarcness
about the spread of

(1)  Typhoid and Cholera

(2)  Dengue and Japanese Encephalitis
(3) Small pox and Malaria
(4} Dengue and Eye flu

Study the Venn diagram given below :

Animals that Animals that
live on land live in water

Animals that
lay eggs
Which of the following animals can be placed
at A7
(1) TFish
{2} Crocodile
(3) Eel
(4) Shark

61.

62,

63.

questions by’ﬁéfw: WW%W&I}% 5T g T
faeq g

FefafEd & | #19-3 we-wg o § freds
Y 4§ gratyg § )

() w=R%, 2, &k, Te

(2) "R, TARE, I (- s, o
(8) e, T, aeifitr, o

(4) @lle, @HrefaE, sHifer, st

HRAl UE R W ww A9ME % ey @

a. M AR-UE WA F s o A

b W & w4, gerl sk 2w @) o

¢ AT ¥ S W U oty @ wmr @ A
O % fBTwm Bt

d W4 % 99 F fOU s W o

TR A REE b v o b

SRR G T |

. 3 Y

(1) ZIE%EE AN Ba

:ﬁéﬁqm%qaﬁ@mmaﬂﬁq:
WO W G e ard

Fefafad 4 & #3-8 desm x d @ W
e § ?

(1) "=l

(2) TR

(3) = (|d)

4) WS
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Anjali’s friend suggested the following four
ways to aveid tooth decay :

a.  Brush vour teeth twice 2 duy
b.  Wear braces to avoid enamel decay

c. Avoid sweets,
carbonated drinks

and

chocolates

d.  Rinse mouth after every meal

Which of the above ways should Anjali
follow ?

(1) aandc

{2) b, candd

3) ¢, danda

(4) d,aandb

An air-pump is kept in an aquarium in order
to

(1) enhance the beauty of the aquarium
(2) make water cleaner

(3) provide more carbon dioxide to water
plants

(4) allow more oxygen to dissolve in water
Which one of the following pairs of life

processes  occurs  both  in plants and
animals ?

" (1) Growth and reproduction

(2)  Growth and food making
(3) Reproduction and food making
{4) Reproduction and germination

Which one of the following best describes the
features on the surface of the Moon ?

{1) No air, no gravity, no water

(2) No air, no gravity, smooth surface

{3) No water, enough air, high mountains
(4) No water, deep craters, high mountains

A fish dies when it is put in an agquarium
filled with previously boiled water but cooled
to room temperature. This happens because
the water in the aquarium is

(1) depleted in minerals

(2) unfit for swimming by {ish
(3) depleted in oxygen

(4) unfit for drinking by fish

64.

65.

66.

67.

G8.

A
sfafer & wRell ol | ag @ e ¥ fnfafod
TR 9% T4 ¢ -

b. TG FH A P 39 fu #fEE e

d. & @H F TR Fooul w

dafd &l sugw T H 4§ faua
F =ifgw
(n aaﬂT\c

ST

~J

(2) b, ¢ afﬂ d
(3) ¢, d a
4) d, a3 b

& U meer (srRfm § g
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(1) HScR (aEaftEm) & v 9gm
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(3) wed Wbl F sfuw @ TEeiiEne

3T FA
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Ug-didl 3R Sf9-sigesh 9 # faerr € 2
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(2) g5 3t died wam
(3) WA HR RS FAE
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frafafeg & O @i9-@ 9T & T @
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70.

71.

72,

Rekha’s mother adds Phitkari (Alum) to water |69,
collected from the pond every day in order to

Which one of the following is a good cooking
practice 7

(1
(2)
(3)

4)

jer*

{20)

{1) kill germs in water
(2) decolourize water
(3) sediment light suspended impurities
(4) change hard water into soft water
In order to separate a mixture of sand and 70
salt, which one of the following four scguences :
of processes has to be used ?
(1) Sedimentation, decantation, filtration,
evaporation
" {2) Filtration, decantation, evaporation,
sedimentation
(3) Evaporation, sedimentation,
decantation, filtration
(4) Decantation, sedimentation,
evaporation, filtration 71.
Weight-lifters are generally required to make
more muscles and body mass. For this
purpose, they need to take a diet which is
rich in
(1)  Vitamins
(2)  Proteins
{3) Carbohydrates
{(4) Fats
72.

Cooking the vegetables by deep frying
to kill bacteria

Washing the vegetables nicely and then
cutting

Cutting the vegetables and then

washing these in running water

Keeping the vegetables in sunshine for
some time before cutting and cooking

wWa A % fau I aam @
am T F el e #

(D) T B AR R e am e

2) W H R w9

(3) ¥k Frcifad oramedi N sramnfiza avd
(4) FTR W F gg @ 7 ofEfiE w0

Wl TE ¥ fo @ oymg w0 ¥ faw
yEmal & frafefes 98 &9 § @ frgm
3 fan W =R

(1) ¥Fared, faarvn, fee, amgm

(2) TI&iga, frame, o[, s

(8) oMYA, aurEd, e, frsges

(4) Fremer, sgaew, ames, freged

wrﬂamaﬁﬁwmmnmwaﬁwﬁgﬁm
(body mass) &I I HETFEN Bl E ) TH
38V F A, 3% W SR o Y syEvasA
g S W @

(1 faefmE

(2) e

(3) HEEEIH
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While teaching how different food items can be
kept fresh for some time, Radha enumerated
the following techniques to her class

2 Put il in a bow! and keep the tawl in
an open container having cold water

b.  Wrap it in a damp ¢cloth

c.  Spread it open in sunshine
Cut il into small pieces and keep it in
the dark

Which one of the following food items is she

referring to, corresponding to technique

‘b’ above ?

(17  Kaju Burfi

(2) Cooked rice

(3)  Onion, garlic

{4) Green coriander

All big cities are facing the problem of

environmental pollution as a resull of a large

number of vehicles on the roads. The best way

an individual in the city can contribute

towards environmental protection is by

(1) not keeping a personal vehicle like
scooter, car, ete,

{2) getling the engine of personal vehicle
checked regularly for environmental
safe limits

(3) using a public transport system for
travelling

(4) avoiding frequent travel outside the

home

While performing experiments with water,
Jyoti observed that an empty steel bowl
floats but a small iron nail sinks in water,
This can be explained by the fact that

(1} irom is heavier than water and steel is |

lighter than water

(2) - iron is lighter than water and steel is
heavier than water

(3) force on a steel bowl is more than its
weight whereas force on an iron nail is
lesser than its weight

(4) force on an iron nail is more than its
weight whereas force on a steel bowl is
lesser than its weight

73.

75.
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Engage, Explore, Explain, Elaborate and
Evaluate are five important ‘Es” in relation
to effective teaching of Science.

To provide practical experiences to the

swudents related to the concept of ‘Necessary

conditions for germination’, a Science teacher

asks them to do the following activities :

a. Soak seeds overnight and keep these is a
wet cotton cloth,

b. Observe the seeds after two days and
record the changes.

¢. Read the book and attempt the given
worksheet,

Which of the five ‘Es’ given above are not

being covered in the above activities given by

the teacher ?

(1) Engage and Explore
{2} Engage and Evaluate
(3) Explain and Elaborate
(4) Explore and Evaluate

Which one of the following sequences of

steps is the correct way of preparing a

balanced question paper ?

(1) Writing the questions, preparing the
blueprint, matching with the design,
writing the marking scheme

(2) Preparing a design, preparing a
blueprint, writing and editing the
questions, writing the marking scheme

(3) Preparing the design, writing the
questions,  preparing the marking

scheme, matching with the blueprint

(4) Writing and editing the questions,

 matching with the design, preparing the

blueprint, writing the marking scheme

There are four below average students in a

class. Which one of the following strategies

will be most effective to bring them at par

with the other students ?

(1) Give them additional assignments to do
at home

(2) Make them sit in the front row and
supervise their work constantly

{3) TIdentity their weak areas of learning and
provide remedial measures accordingly

{4) Ensure that they attend the school
regularly

(22)
76.

7.

78.
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A Sdence teacher adminisiered a test alter

teaching the topic on  ‘Respiration’ and

observed that majorily of the students did not

understand the difference between respiration

and breathing. This could be due to the reason

that

(1) there was usually lot of indiscipline in
her class

{2) she could not explain the related concept
effectively in the class

(3) she was not their class teacher

{4} the studenls could not undersiand the
question correctly

While teaching the topic on ‘Air’, an EVS

teacher wanted to demonstirate thal air has

weight and occupies space. Her collcague

suggested the following four different

activities for this purpose to her ;

a. Place an empty inverted beaker on the
surface of the water and start pressing it
down

k. Suck the juice through a straw
Blow air in a balloon

e oo

Tie two inflated balloons to a rod and
establish equilibrium. Then puncture one
of the balloons.

Which of the above activities will lead to
demonsirating the desired result ?

(1) aandc

(2) aandb
{(3) aandd
(4) bandd

Which one of the following teaching strategies

will be most effective for maximum

involvement of students in teaching the

conceptl of food chain ?

(1) Ask students to explore possible food
chains operating in different habitats

(2 Ask students to  collect
information from internet

related

(3) Ask students to copy all examples of
different food chains written on the
black-hoard

(4} Make play-cards of organisms and ask
student groups to arrange them to depict
different food chains

79.

80.

81.
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In order to introduce the Lopic on ‘Nutrition’
in class more effectively, a teacher should

(1) draw the diagram of digestive system
on the black-board

(2)  show the model of human denture

(3) ask the students to open their tiffin
boxes, sec the contents, followed by
teacher’'s explanation

{4) give examples of different foods rich n
nutrients

After having been taught about the rich flora
and fauna in India, the students of primary
classes were taken to Ranthambhore
National Park by the school, This would help
the students to

(1) have fun and enjoy with friends on an
outdoor irip

(2)  develop respect for nature

(3} co-relate classroom learning to real-life
situations

(4) develop skills for environmental

protection

The topic ‘Depletion of Petroleum and Coal
was taught to Section A of a class by using
multimedia capsule while the other Section B
was taught through diagrams drawn on the
Green Board. It was found later that students
of Section A understood the topic to a better
extent. This could be due to the reason that

(1) Audio-visual aids engage all the senses
for better retention

(2)  Green Board is not a good visual aid

(3) Multiple approach is closer to everyday
life situations '

{4) Use of multimedia aids is
comparatively more economical

82,

83.

84.
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Samir of Class V usually does not submit, his
assignments to the EVS teacher in time. The
best corrective measure could be to

\\

{2

(1) write a note to parents about his
irregularity

{2)  bring it to the notice of the Principal

(3)  stop him from going to the games class

(4) find out the reasons for irregularily and

counsel Samir

The major purpose of periodic parent — teacher
interactions is to

(1)  bighlight each other’s shortcomings

(2) share the information aboul ongoing
cvents in the school

(3) discuss the child’s strengths and
weaknesses  for  reinforcement and
improvement,

{(4) develop a social relationship with each
other

While teaching the topic on ‘Air is

everywhere’, a teacher asks the following
questions from the students :

a. Is there air in the soil ?
b. Is there air inside water ?
¢.  Is there air inside our body ?

d. Is there air inside cur bones ?

Which one of the following skills is the
teacher trying to develop in the learners ?

(1) Observation skills
{2y Classification skills

(3) Thinking skills

Emotional skills

(4)

86.

87.
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A teacher can identify a siressed child when
the child shows the following behaviour :

(1) Hyperactivity
(2)  Aggressive behaviour
(3)  Full concentration in studics

(4) Excessive talking

Which one of the following four teaching
methodologies  followed by four different
Science teachers for teaching the topic ‘Air

Pollution’ is most appropriate 7

{1) Asking the students to read the topic

from  the text-book loudly and
explaining the meaning of
concepts/terms

(2) Dictating the answers to all the
questions in  the exercise after

completing the topic

(8) Showing a documentary film on ‘Air
Pollution’ to the students

(4) Asking the students to collect air
samples before and after Diwali, study
their quality and tabulate the findings

While teaching the topic ‘Friction’ to Class V
students, a teacher gave a number of
examples to explain that friction is also
useful to us in many ways. Which one of the
following examples was quoted by her
incorrectly ?

(1) A vehicle stops on application of brakes

(2)  We are able to write due to friction
between the tip of the pen and the

paper

{3) We are able to walk because of friction
between our shoes and the ground

(4) . An ohject thrown vertically upwards
always comes back to us due to friction

B8.

89.

90.
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Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as

LANGUAGE - L.
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PART IV

LANGUAGE I
ENGLISH

answer the questions that follow (i Q. No. 91 to 99) by
selecting the most appropriate option.

91.

Our body is a wondrous mechanism and
when subjected to unusual stress over a
period of time, it adapts itself to deal more
effectively with that stress. Therefore, when
you exert your muscles against resistance,
they are forced to adapt and deal with thig
extraordinary workload. This is the principle
of weight training. Strands of muscle fibres
become thicker and stronger in response io
the demands placed on them.

One of the great merits of weight
training is the strength of your heart. During
weight training, your heart is foreed to beat,
faster and stronger in order to pump
sufficient blood to the muscles being worked.
In time, your heart, Jike your body, will adapt
to this extra-workload by becoming stronger
and more efficient. Since your body needs a
given amount of blood to perform ils daily
tasks, your heart will now need fewer beats to
pump the same quantity of blood. Sounds
good ? There’s more. Your entire circulatory
system is given a thorough workout every
time you exercise, which increases its overall
efficiency. Even the neural paths from your
brain’s command centres to each individual
muscle become more effective, enabling easier
recruitment of muscle fibres for carrying out
physical tasks, In essence, your body becomes
a well-viled and finely-tuned piece of
machinery, whirring along without any
breakdown. In today’s stress-filled world, you
need all the help you can get.

The principle of weight training is

(1) helping the body adapt to increased
stress

(2)  training muscles to exert more pressure
(3} dispesing extra workload

(4} thickening extra

consumption

of body through

93.

94.

95.

96.

97.

Read the passage given below and |92, Weight training makes the muscles

(1)  become intense

(2)  resist workload

(3) thicker and sironger
(4)  become siranded

During weight training, the heart pumps
(1} less blood

(2)  more blood

(3)  required blood

(4)  an extraordinary amount of blood

A stronger and more efficient heart,

(1) beats faster and more often 1o pump
blood

(2) needs fewer beats to pump the same
amount of blood

(3) can rest longer, reducing its workload

(4} is assisted by muscles of the body

When neural paths become more eflective
(1) the brain functions at extraordinary

speed
(2)  the brain opens new pathways {or
communication

(3) the brain employs various muscles easily
for physical tasks

(4) the muscles function effeclively and
independently

What does the term ‘well-viled” in 1ihec
passage denote ?

(1) Healthy

(2} Serviced
(3) Massaged
(4> Greased

Which one of the following is the most
appropriate title for the passage ?

(1)  Health is Wealth
(2) Stressbusting ‘
(3) The Mechanics of Weight Training

(4)  How to retain your health ?
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98. What does the above passape suggest ?
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{1) We should carry out physical exercise as

a routine

(2) Physical
occasionally

exercise is

(3) We should ignore physical exercise

{4) We should subject our body 1o as much

exercise as it can withstand

99. The word ‘wondrous’ (first line) is
{1) a verb
(2) a noun
(3) an adverb

{4) an adjeclive

Directions : Read the poem given below and answer
the questions that follow (Q. No. 100 to 105) by

selecting the most appropriate option.
Night

The sun descending in the west,
The evening star does shing;
The birds are silent in their nest,
And 1 must seek for mine,
The moon, like a flower,
In heaven’s high bower,
With silent delight
Sils and smiles on the night.
Farewell, green fields and happy groves,
Where flocks have took delight.
Where lambs have nibbled, silent moves
The feet of angels bright;
Unseen they pour blessing,
And joy without ceasing,
On each bud and blossom,
And each sleeping bosom.
They look in every thoughtless nest,
Where birds are covered warm;
They visit caves of every beast,
To keep them all from harm.
If they see any weeping
That should have been sleeping,
They pour sleep on their head,
And sit down by their bed.

NeCessary

(29)

101.

102.

103.

104.

105.

(1
\2)
(3
(4)

100. The cvening slar rises when

il 15 dawn
the sun descends in the west
the birds leave their nests

il is midnight

Here, ‘bower’ represents

(1)
(2)
(3)
(4)

a bouquet of flowers
a flower vase
a potted plant

a framework that suppofts climbing
plants

The poet compares moon to

(D
(2)
(3)
(4)

an evening star
an angel
a flower

a bird in the nest

The angels come down on earth to

(1
(2)
(3)
(4

make people dance and have fun
take blessing and joy

spread moonlight

give blessing and joy

Birds’ nest iz described as ‘thoughtless’

because

(1) it is made without any thought

(2) the occupants are asleep without any
care

(3) the angels are blessing the birds to be
happy

(4) the birds are covered in the warmth of
their nest

The figure of speech used in the line ‘In

heaven’s high bower’ is

(1) Alliteration

(2) Simile

(3) Metaphor

(4) Personification


http://upscfever.com

#
#
A

Directions
selecting the most appropriaie opiion.

106. Scanning meang darting over much of a text
to scarch for

107,

108.

109.

(1)
(2)
(3)
(4)

A sight word’ is a vocabulary item

(1)

{2)

(3)
(4)

A good introduction to a text should be

(1)
(2)

(3)

(4)

Which of the following is an Important stage
in the writing process ?

(1}
(2)
(3
(4)

R4

/er-

; Answer the following questions by

(30)

the central idea
the opinion of the author
difficult words

a specific item or piece of information
that we wish Lo discover

that the reader recognises and finds
meaningfpl  on  sight without a
complicated analysis

that needs proper visual understanding
of the context

that is to be learned by heart

that helps in Judging the effectiveness
of the author’s style

short and to the point

telling the students anything that they
can find out for themselves by reading
the text

a detailed explanation of the meaning
of the text

blocking the student’s active
mvolvement by means of questioning

Comprehension
Editing

Memorisation

Calligraphy ]

110.

111,

112,

Curriculum ig an educationsl
which does not state

programume

{1} the educationa]
programme

pirpose of g

(2} the number of lessons 1o be taught in a
lerm

(3} the means of evaluating whether the

educational  objectives have  been
achieved or not '
(4) the content (material etc.), teaching

strategies and learning  experiences
which will be necessary Lo achieve this
purposc

We use real objects to teach young learners
new words becauge

(1} it helps learners associate words with
objects they see in real life

(2) it helps in teaching the correct spelling
of words

(3)  we can teach vocabulary only through
objects

(4)  young learners
abstract thinking

The best way to sensitise young learners to
rhythm and intonation is

(1) by explaining the rules of phonetics in
simple words

(2) by reading out poems in different
metres and explaining them

{3) by making the Iearner_s listen to
nursery rhymes and recite them
effectively

(4) by making the learners copy out simple
poems in neat handwriting

are not capable of
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114,

115.

116.
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Telling inicresting stories to young learners
15 primarily meant for improving their

(1) Reading skills
(2)  Writing skills
(3} Speaking skills

(4) Listening skills

The main purpose of using oral drill is

(1)

to improve the retention capacity of

learners
{2) to assess the comprehension skills of
learners
(3) to improve pronunciation and accuracy
(4) to enhance the speaking skills of

learners

Seating arrangement should be flexible so
that

(1) children have the freedom to move
their seats wherever they want

(2) many group, pair and whole-class
activities can be conducted easily

(3) children do not form permanent
friendship groups

{(4) the teacher ensures equality prevails in

her classroom

Knowledge of more than one language

(1)

causes interference in learning a new

language

(2) becomes a burden to the teacher in the
language classroom

(3) confuses the learners while learning a
new language

{4) is very helpflﬂ in teaching and learning

a new language

117.

118.

119,

120.

An effeclive language teacher

(1} will rely entirely on the proseribed

text-book

(2)  will make children Jlearn all the
answers to the questions given in the
text-book

will use the text-book as well as other
material as resources for teaching

(4) will prepare question papers using only

the guestions given in the text-book

A teacher engages her learners in a fun
activity before beginning a new lesson. The
purpose of this activity is to

(1}  motivate and energise the learners
{2) discipline the learners before the lesson
(3) divert the attention of the learners
(4} reduce the workload of the teacher

The most effective tool Lo assess values and
attitude of learners is

{1) Summative Test
(2)  Anecdotal Record
(3) Portfolio

(4)  Unit Test

Continuous and Comprehensive Evaluation
should be adopted by all schools because

(1}

it affords teachers opportunities to test
learners frequently

(2) it is the latest development in the field
of education
(3) traditional pen-—-paper tests do nol

assess and enhance all the attributes
and abilities of learners

it frees the learners from studies and
hard work

(4)
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Candidates should answer questions
from the following Part only if they
have  opted for HINDI as

LANGUAGE —1I.
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R T A T # e S @
FifeR
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(3) ¥ N TAS T oW
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S et gHN Sfe Sitad § Hm TE SR I
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(1) ©UE B 3

(2) 3731 BN @
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(3) THA e ¥
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(3) Afedl F Eme
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(2) =@ F U 9R ARy
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(1) =k & fge dor ¥ @y 2
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(3) = R FER — AT W srfie
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‘o § e @
..
2 o9& 3w 9 & s 9

(3) H@e
(4) FHHT
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(3)
(4}

ERCIERED |
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(2) 9 faEe # wgd o9 A @
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110,

111.

112,
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(2) A & fafim wand
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(4) 9T = =
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SHfh HTo-Sfey sl dhr @
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IF &
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{2)

-3 # fafe

(3) Heheq T ATgarer §

WW-ST § S W erE @ wew
T feran S

(4)

gieaifaa a=ai @ W faad g

(1) F9 W&t dle EE-TeE & R
ST fRe
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EUY

3% F H 3@ dam wRw afF 3= w
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(1) 3 S # fedt F gue qm e @

AT &I fase
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CIGIEEu

fecl ST & Jelad Y TWY ey Wy s

ol mew & 7

(1) feEg fagd # g

e gy

HE &1 gHar & e

(2)
(3)
(4)

(36)
117,

118.

119,

120.

NS W OW A # WEE-ge s ¥ ey we
F AR R e e S ey )

(1) N T w9 A 9 W osTaifE
(2) &= FRifal simEr Hfaand
3 faeet wfeea &

mﬁﬁmmﬂmm%m
Had FY IWE a0 P 8 2
(1) =g &

Hale- 3R

SIRIUT-3MYIRE  Hig--3rry

(2)
(3)
(4) &9 wEl w1 avlq

frafifen § & sF-w1 a=9 %1 afvs awa ¥
T w1 Y 3fag 9@ 2 2

(1) 43 F uitwfsg Fifm

(2) W IR F & IO A

I WeE WO A g uF wwe
feafaw

(4) G e #® Q@ o

(3

-Wﬁi@ﬁéﬁmaﬁ?mmwﬁ%%a@
g7
(1) W e-gE
TUE IS amE
I & AR fram

U8 Wi geHm

2
(3

(4)


http://upscfever.com

3

(37)

Candidates should answer questions
from the following Part only if they
have opted for ENGLISH as
LANGUAGE —11.

qiendl frerfafad 9 % vobi ¥ 3=
sad ol 3 Ife IR W — o
faeshed s@stt =T & |
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PART V

LANGUAGE I
ENGLISH

Directions : Read the passage given below and
answer the questions that follow (Q. No. 121 to 129)
by selecting the most appropriaie option.

10

15

20

25

30

36

40

Anaesthesia in any part of the body means
a loss of sensation, either permancnt or
temporary. The tferm is usually used to
describe the artificially produced loss of
sensation which makes a surgical operation
painless.

There are four main types of anaesthesia :
general, spinal, regional, and local
Anaesthetics may be given as gases, by
inhalation; or as drugs injected into a vein. A
patient given - general anaesthesia loscs
consciousness. Anaesthesia of a fairly large
area of the body results from injecting the
anaesthetic drug inte the spinal canal : all
that portion of the body below the level al
which the drug is injected is anaesthetized.
Regional anaesthesia is the injecting of the

nerves  as they emerge from the spinal
column : the anaesthesia induced by this
method affects only that area of the body

supplied by those nerves. In local anacsthesia,
the drug is injected directly at the site of the
operative incision and sometimes also into the
nearby surrounding tissues.

Formerly the most commonly used local
anacesthetic was cocaine, a drug exiracted
from the leaves of the coca bush and
introduced in 1879. But cocaine has some
disadvantages and, sometimes, undesirable
side-effects. For spinal, regional and local
anaesthesia, procaine, or one of the several
modifications of procaine, is now widely used
instead of cocaine. For very limited and short
operations, such as opening a small abscess,
local anaesthesia may be induced by spraying
(rather than injecting) a chemical, cthyl
chloride, on a small area of the skin; in
changing from the liquid to the gaseous state,
this drug freezes the arca sprayed, and
permits painless incision. :

121.

122,

123,

124,

125.

When a part of the body is anaesthetised,

(1) thal part loses the ability to feel any

pain

(2) the nearby organ loses its function
permancntly

(3)  the body loses its consciou sness

(4) tihe part gets excited

The real purpose of using anaesthetics is
(1)
(2)

to cure patients of diseases

to make patienis unconscious

(3) to perform operations withoul causing
pain

(4) to artiftcially produce loss of sensation

An anaesthetic is inhaled when it s

administered

(1) as adrg

12} by injection

{3) as a gas

(4) as a spray

When a gas 1s used as an anacsthetic, the
anaesthesia is

{1} general
(2) spinal
(3)  loecal

(4) regional

Spinal anaesthesia is resorted to when

"y

a patient has to be made unconscious

(2) a small area has to be anaesthetised

(3) the operation involves a big area of the
body

(4) a drug has to be injected into the vein
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The expression ‘the site of the operative
incision’ (lines £22-23) means

{ir all the surrounding tissucs
(2)
(3)

the place at which a cut is to be made
the spot at which the anaesthetic has
to be injected
the area of the body supplied by
specific nerves

{(4)

An ‘abscess’ (line 34) is
(1
(2)
(3)

a deep hole
an operative incision

a collection of poisonous matter in a
hole in the body

an open wound requiring surgery

(4)

The word opposite in meaning to the word
formerly’ (line 25) is

10

20

25

A

Soon the shearers fall into their routine.
A lad scizes a sheep from the pen and tios
its feet — not with a cord, because that
might injure it, but with a strip of sacking,
The sheep is carried to the benches, and the
shearer begins to slice off the wool. First he
shears the coarse wool from the sheep's
belly, then lays the animal on its side on the
bench belween his legs while he snips at the
curly wool round the neck. He works t¢ and
fro along the ribs, peeling the wool back
unlil i hangs like a cloak doubled back over
the animal. Then he turns the sheep over
and begins on the unclipped side. In a few
moments the whole fleece falls away in one
piece, looking like a dirty grey rug. A few
more snips from the shears and the wool ig
cut from either side of the sheep’s tail,
leaving the animal white and naked. The
shearer pushes the sheep to the ground and

(1) industrially + 30 immediately calls for another animal,
{2) fortunately Meanwhile the lad daubs the farmer’s mark
(3) later i pitch on the newly shorn sheep, unties
(4)  significant her legs, and drives her out of the shearing
pens.
129. ‘Anaestheti¢ (line 26) is 35 A second lad -~ the farmer’s son —
seizes the fleece as it is tossed aside, rolls it
(1) & verb up, tucking the tail-wool in first, and secures
(2) an adjective the bundle by knotting the neck. Any loose
(3) an adverb clippings are gathered separately.
(4) a noun 40 The work continues till one o’clock, when

the farmer’s wife summons the men to
dinner.. Each man finishes the sheep that is
beside him, then the whole party goes back

Directions : Read the passage given below and
answer the questions that follow (Q. No. 130 to 135)
by selecting the most appropriate option.

to the farm house. The men troop into the
farm kitchen, leaving their dogs to scuffle in
the yard. After the shortest of dinner-breaks

45

. — for there is much to be done — the

The farmer is up before dawn on . . . ]

. .. . . shearing continues, and the pile of fleeces
shearing-day, driving his flock into pens. By mounts

eight o'clock the shearers arrive and, after a
hearty breakfast, they take their places on
5 long benches that the farmer has improvised
in the pens. Shears are taken from leather

What expression in the first paragraph
suggests that shearing does not take place
very often ?

130.

cases and sharpene_d with whetstonels; a fire (1) improvised

is lighted to heat pitch for the marking; and (2)  flock

the work begins. (3) whetstones
(4) shearing-day
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The shearer first culs the wool from the
of the shecp.

(1) underside

(2) ribs

{3) tail

(4) legs

Why are loose clippings of wool gathered

separately 7

(1) So that they do not get spoiled

(2} Because they are not so valuable as
whole fleeces

(3) Becausc they are needed to fill up the
top of the bags

(4) Because they weigh less than a whole
fleece

Wool which has been shecared from a sheep.
18

(1) cut into two picces by the shearer with
a few snips

{2)  rolled and bundled
(3) tied with sacking
{4) bagged on shearing-day

What word from the passage best tells us
that shears are like a very large pair of
scissors ?

(1) snips
(2) cut
(3) slice

(4) sharpened

‘The sheep is carried to the benches.” It is an
example of

(1) an interrogative sentence
{2) a negative sentence
(3} passive voice

(4) degree of comparison

136.

137.

138.

139.

140,

Directions : Answer lhe following questions by
selecting the most appropriate option.

Substitution table drill belps teachors in

(1) giving controlled language practice

(2)  developing [ree writing skills

(3) improving the fluency of learners

(4) evaluating the listening skills

When young learners are asked to reud a
text silently, they should be instructed

(1) to read fast even if
comprehend the meaning

(2)  to stop reading whenever they encounier
a difficult word or phrase

they don't

(3)  to infer the meaning of new words from
the context and read with comprehension

(4) to pay special attention to grammar
items used in the passage
Language skills are best learnt

(1) when they are introduced in isulation,
one skill at a time

(2) only through written tests and
assignments

(3) if they are taught in an integrated
manner

{4) with the help of challenging and
mechanical language drills

The primary objective of using role play is

(1) to develop acting talent

(2)  to evaluate dialogue writing skill

(3) to promote the reading habit

{4) to improve the communicative
competence
The main responsibility of a language

teacher as a facilitator is

(1) to read the lessons aloud and provide
explanation for each line

(2} to create a number of opportunities for
the learners to wuse the language
meaningfully

(3) to provide a lot of information and make

- the learners listen to it

(4) to strictly control the class and cover

the syllabus in quick time
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Afler a story-telling session, the learners are
asked to change the ending of the story. This
will help the learners

1) hecome imarinative and crealive
(2) understand grammar belter

(8) develop library reference skills
{4) evaluate the teacher’s originality

Which of the following will help learncrs
take greater responsibility for their own
learning 7

{1) Summalive Assessment

(2) Supervised reading sessiong
- (3} Controlled writing tasks

(4) Peer Assessment

Under Constructivist Approach to language
learning, learners are encouraged to

(1) learn the grammar rules by rote

(2) discover the rules of grammar from
examples

(3) avoid errors completely

(4) practise language drills mechanically

The main purpose of assessment is

(1}
(2}
(3)
(4)

to decide pass and fail

to measure achievement of learners
to give practice in writing

the

to improve teaching — learning

process

Young learners will enjoy a play included in
the text-book when they

read the play silently

(1)

(2) listen to the teacher reading the play
(3} enact the play

(4) get detailed explanations about the

play from the teacher

146,

147.

148.

149.

150.

A

When young learners are taught o improve
their spelling and punctuation, they will

(1) improve their accuracy

(2)  enhance their fluency
(3)  nuriure their creativity
(4) sharpen their listening skillg

After reading a poem, a teacher involves the
learners in group work., One group writes the
summary of the poem, another draws a
picture to depict the main theme and yet
another sets the poem 10 music. This aclivity

(1) will distract the learners from the
lesson

{Z) 18 a sheer waste of time

(3) calers to diverse abilities and inlerests

{4) is aimed at preparing the learners for
assessment

Instead of asking questions and getting

answers from her learners, a teacher gives
some short texts and asks her learners to
frame questions. Her primary objective is to

(1

train the learners as good question paper
sctters

(2) take their help during examinations

{3) make the learners realize the difficulties
faced by teachers in preparing question
papers

(4) enhance the learners’ analytical and

critical thinking
Correct speech habits can be developed most
effectively through
(1) Dictations

(2) Pronunciation practice
(3) Vocabulary practice
(4) Quizzes

Reading between the lines as a sub-skill of
reading mainly involves

(1) identifying the grammatical item

(2) understanding the stated facts

(3} giving sufficient space between lines
(4) inferring the unstated using the

contextual and verbal clues
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Candidates should answer questions
from the following Part only if they
have opted for HINDI as
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HIST 11
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123.
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124.

125.
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A Y §
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127,

FAE & W
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EICEICUNE G )

St Al % AR H § g
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o B G SAFSE wae S
(1) BT 35 9@ gay ¢
(2) fagH @ w%d & -
(3) s faam 78 = w9
(4) T T IFE=A o Tha §

Tod 9 $® WE @ ot 9 99 o
(1 s 3% fomm @

(2) & WSl W =EER ¥ oo P

(3) wrn-foar @ §

@) 9 fpae i wgo-dmd @

AR SAad § 3w # 3 a7 arett ardy |

S A T A 8w T ugar, s46its

(1) ¥ 9 =els Sted & safgd 78
Ll

(2 s 3 T W© & I @ A
T €

(3) % # fom sar & &

(@) T FuES e §

T’ 1 SgeE w7 @

(v Fafag -

(2) framt

(3) franfad
(4) frargt

Fefafed & @ s for & fo svw
fergmor 787 & 2

(1) &eTcH®

2) g

(3) TR

4) ded

‘Teh' H YR §
(1) I EER
(2) 3THER

(3) W

(4) ®iT
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1S9 : T # el FEiafad v (rE 129 @
135) % Ga® 3fed fawey g

33 Fe1 I W I & Aewayol g
I AT FEA W oAH | Y PR & owed
I H A A, IR AGEH AT A gA A,
WHE @ T, T IW e W wEg § o 2

Rl % %R @ g & AU, 3w e %

fau, . = $fim #0 9 svw aa ¢ | el
adt el o1 gt 3@ WM Wil ke & w
B0 — [0 A | @Y 95 e ¢ f% “aTarE
AR AT % TR WA S ¥ TR BR W
deT FE A I M FHA T @ v
QI B 27 TW WA &AM @ diE )
foresh T € | A W A A1 4 a9 &t U B
S frr % frege T @ @, s T s
Yl gl H AR FA A1 | W F & e §
a5t & el 9wl & e @ @ 1 ek
i & 9% g 4 | F @i, 9 gl g wh
03 ... O #0136 0 FE-FE el w1 o |

AfgH F SER IR a9 e & gl A
Y TEEqul a4 8 2

(1) S 5 Fa W @R

(2) o FEA W wH

(3) @M FEd W F fAu ovawi & s
FTAT

(4) TAE F FEE AT

130.
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(3) TR @

(4) Vi TR

T § e A § 1§ stfamg @

(1) o T =] 9R-of arer g e oy
Al A e W v W W @ R
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(2) @ml A= o FEd 2 fR oqu @) wed

(4) it

ffafga § § - wee wifam & 2
(1) foam

(2) E@HEq

(3) A=

(4) HEA

'TH HAS B VA &g N s S wwar g o
T § ey of, A v

(1) ferar-fagmo

(2) wEIH

3) fme

(4) Yaydrgs
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10.

11.

12.

READ CAREFULLY THE FOLLOWING INSTRUCTIONS :

Out of the four alternatives for cach question, only
one circle for the correct answer is Lo be darkened
completely with Blue/Black Ball PPoint Pen on
Side-2 of the OMR Answer Sheet. The answoer once
- marked 15 not liable to be changed.
The candidates should ensure thal the Answer
Sheel is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else cxcepl in the specified space in the
Answer Sheet.
Handle the Tesl Buoklet and Answer Sheet with
care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another sel will
be provided.
The candidates will write the correct Test Booklet
Code and Number as given in the Test Booklet /
Answer Shect in the Attendance Sheet.
Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electrenic device or any other
material except the Admit Card inside the
examination hall/room. '
Jach candidate must show on demand his/ her
Admission Card to the Invigilator.
No candidate, without special permission of the
Superintendent or Invigilator, should leave his/
her seat.
The candidates should not leave the Examination
Hall without handing over their Answer Sheet to
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be
deemed not to have handed over the Answer Sheet
and dealt with as an unfair means case.
Use of Electronic/Manual Calculator s
prohibited.
The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cascs of
unfair means will be deall with as per Rules and
Regulations of the Board.
No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.
On completion of the test, the candidate
must- hand over the Answer Sheet to the
Invigilator in the Room/Halll The
candidates are allowed to take away this Test
Booklet with them.
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